% E2SARA Technical Data

EVMSG

Vertical
Multistage
Pumps

° with unique low axial
thrust impeller design
Shurricanse

Any motor - Anywhere

EBARA rumvps AUSTRALIA PTY. LTD. EVMSG_Techdata_SS_V16




VERTICAL PUMPS EVM SG

CONTENTS 50 Hz

Important Note: Text and Performance curves in Grey are not part of EPA Market range.

SPECIFICATIONS Page
PRODUCT FEATURES 100
PRODUCT SPECIFICATIONS 101
SHAFT SEAL 102
TYPE KEY 103
PERFORMANCE RANGE 104
CURVE SPECIFICATIONS 105
SELECTION CHART 106-107

PERFORMANCE CURVES & TECHNICAL DATA

PERFORMANCE CURVE - EVMSG1 200
TECHNICAL DATA - EVMSG1 201
SECTIONAL VIEW - EVMSG1 202
SECTIONAL TABLE - EVMSG1 203
QUANTITY FOR MODEL - EVMSG1 204
PERFORMANCE CURVE - EVMSG3 205
TECHNICAL DATA - EVMSG3 206
SECTIONAL VIEW - EVMSG3 207
SECTIONAL TABLE - EVMSG3 208
QUANTITY FOR MODEL - EVMSG3 209
PERFORMANCE CURVE - EVMSG5 210
TECHNICAL DATA - EVMSG5 211
SECTIONAL VIEW - EVMSG5 212
SECTIONAL TABLE - EVMSG5 213
QUANTITY FOR MODEL - EVMSG5 214
PERFORMANCE CURVE - EVMSG10 215
TECHNICAL DATA - EVMSG10 216
SECTIONAL VIEW - EVMSG10 217
SECTIONAL TABLE - EVMSG10 218
QUANTITY FOR MODEL - EVMSG10 219
PERFORMANCE CURVE - EVMSG15 220
TECHNICAL DATA - EVMSG15 221
SECTIONAL VIEW - EVMSG15 222
SECTIONAL TABLE - EVMSG15 223
QUANTITY FOR MODEL - EVMSG15 224
PERFORMANCE CURVE - EVMSG20 225
TECHNICAL DATA - EVMSG20 226
SECTIONAL VIEW - EVMSG20 227
SECTIONAL TABLE - EVMSG20 228
QUANTITY FOR MODEL - EVMSG20 229

PACKING DATA

PACKING DRAWING 300

PACKING DATA 301-302
MOTOR DATA

TECHNICAL MOTOR DATA 400

EPA



VERTICAL PUMPS EVM SG

PRODUCT FEATURES S0 Hz

[General]
1. Pump Type
The EVMSG is a Non-self-priming, vertical multistage in line, centrifugal pump.
2. Model range
The EVMSG comes in 1,3,5,10,15 and 20 m3/h flow sizes for the majority market needs.
3.  Maximum operating pressure
The EVMSG can be operated at 16 bar or 25 bar as maximum.
4. Operating temperature range
The EVMSG can be operated from - 30 to + 140 degress celsius as the maximum.
5. Material options
AISI 304, AIS| 316 and Cast iron versions are available.
6. Motor
The EVMSG can be coupled with IEC standard motors.
7. Certifications
DM174/2004 ACS KTW'
Drinking water approval
Mechanical seal SiC/Carbon_EPDM SiC/Carbon_EPDM SiC with graphite/SiC_EPDM
EVMSG . N
EVMS
EVMSL
Note: * KTW is certified for components. Standard
On request
8.

Conform to the provisions of the European directives c €

[Main Product Features]

1.

Innovative hydraulic solutions

« Commercial motors can be fitted to all of the pump models without any modifications thanks to low pump axial thrust
load.

* Low axial thrust load impeller can ensure long life of the motor bearing.

« High pump efficiency classified in MEI > 0.7 for all models.

Energy saving

« High efficiency E3 motors starting from 0.75kW can be fitted as an option.

* A VFD (Varible frequency drive) and the commercial sensor can be directly mounted on EVMSG to maintain physical
constant operations such as pumping pressure depending on the coditions of use.

Piping connection options

* The various pipe connections are available depending on the application requirements Oval flange / Round flange /
Loose flange / Victaulic® / Clamp

» The external dimensions can be adjusted to the replacement of the existing pump in the wide majority

Shaft seal solutions
« Silicon carbide inclusions with graphite can be used as dry lubricant to reduce friction.
« It's conforming to EN12756 (ex DIN 24960)

Easy maintenance

 The cartridge mechanical seal enables the plug in replacement of the shaft seal without disassembling the motor
bracket

* The spacer coupling allows easy maintenance without having to remove heavy motors over 5.5 kW.

Smart plug solutions
Air ventilation plug / Water filling & sensor plug / Commercial sensor fitting / Measurements for suction and discharge
pressure / drain

100

EPA



VERTICAL PUMPS

EVMSG

SPECIFICATIONS - PRODUCT SPECIFICATIONS

50 Hz

PUMP
EVMSG
Operating Maximum working pressure 1.6/2.5MPa (16 bar/ 25 bar)
FEInef2 Liquid temperature range -30°C to 140°C
Impeller EN 1.4301 (AISI 304)
Intermediate casing EN 1.4301 (AISI 304)
Liner ring EN 1.4301 (AISI 304) + PPS
Bottom casing Cast Iron
Casing cover EN 1.4301 (AISI 304)
EN 1.4301 (AISI 304) EVMSG 1-3-10 , EVMSG 5-15-20 (depend on models)
Shaft
EN 1.4462 (AISI 329A) EVMSG 5-15-20 (depend on models)
Comngr}llents Shaft sleeve bearing Tungsten carbide
Material Shaft Seal See the shaft seal options
O-ring EPDM Standard
FPM Optional
Outer casing EN 1.4301 (AISI 304)
Motor Bracket Cast Iron
Tie rod Galvanized steel 6.8 strength class 1550 898/1
) up to 4 kW Die cast aluminium
Coupling
from 5.5 kW Cast Iron
Base Cast Iron
Oval flange up to 16 bar Standard 1, 3, 5 & 10 models
Pipe_ Round flange up to 16 bar Standard 15 & 20 models - Optional 1, 3, 5 & 10 models
connection | (DIN) from 16 bar to 25 bar Standard - All models
Motor Standard In Australia (WEG W21 E2 motors) Options available on request
Frequency 50 Hz
Phase Three Phase Single Phase (up to 3 kW)
Power Rotation Speed ~ 2900 min
Source Power Rating 037+ 185 kw
05+25 HP
0,
Voliage A00GE0. 104 (0100 2 sbove)
Type Electric - TEFC other enclosures on request
Efficiency E2 E3 from 0.75 to 18.5 kW (3ph)
L No. of poles 2
Protection Degree IP 55 IP 56, IP 66
Insulation Class F (temperature rise class B) H (temperature rise class B)
Casing Material Aluminium(up to 7.5 kW) / Cast Iron (11 kW & above) Cast iron
CUEE Flange Mount IM B14 (up to 4 kW)
(IEC motor) IM B5 (5.5 kW & above)

101

EPA



VERTICAL PUMPS

EVMSG

SHAFT SEAL

50 Hz

Legend: @ standard

d4

il
— J
]

L

Al

d1

|

up to 16 bar

Cartridge Unbalanced type

(o] Options

() Type key

W = N W

d4
mmily = N [
L sl ]
~ d1
3
‘ 2
- 5 d2 1
3
| 4
|

from 16 to 25 bar
Cartridge Balanced type

Max liquid Shaft seal type Shaft seal material
rl:lt:)r(r’\& tempergture Cartridge 1 2 3 4 5 Type key
range Rotating Stationary :
Unbalanced | Balanced Part Part Elastomers Spring Collar
-30°C to + 120°C o SiC (Q) Carbon (B) EPDM (E) AlISI316 (G) QiBEG
-30°C to + 80°C o SiC (Q) Carbon (B) FPM (V) AISI316 (G) QiBVG
up to 16 bar | - 30°C to + 140°C o gr;‘;fm‘g’“(’av) SiC(Q) | EPDM (E) AISI316 (G) HQ.QEG
o o SiC with .
-30°C to + 80°C (@] graphite (Qq) SiC (Q1) FPM (V) AlISI316 (G) HQ,Q1VG
-30°C to + 140°C o SiC (Q1) Carbon (B) EPDM (E) AISI316 (G) HQiBEG
-30°C to + 140°C () SiC(Q:) | Carbon (B) | EPDM (E) AlSI316 (G) HQiBEG
-30°C to + 80°C (e} SiC (@) | Carbon (B) FPM (V) AlSI316 (G) HGQBVG
from 16 bar
to 25 bar
o ° SiC with .
-30°C to + 140°C o graphite (Qq) SiC (Q1) EPDM (E) AlISI316 (G) HQ.QIEG
° o SiC with .
-30°C to + 80°C [e} gra")hig' @y Sc@) FPM (V) AlSI316 (G) HQQ:VG
Pump model Shaft seal Max operating d1 dz a3 d4 l
type BIESSEIC [mm] [mm] [mm] [mm] [mm]
Unbalanced 16 bar - 35
EVMSG 1/3/5 Cartridge 16 23 27
Balanced 25 bar 20 425
Unbalanced 16 bar - 375
EVMSG 10/15/20| Cartridge 20 29 35
Balanced 25 bar 24 45

102

EPA



VERTICAL PUMPS EVM SG

TYPE KEY 50 Hz

EVMSG1-3-5-10-15-20

i

[EvmsGl[5 ][ J2 ][ J[FI[5 ][ J[aBEG] [E]T7 31037 M|

Phase motor
M = single phase
null = 3 phase

Motor in kW _ pag.402

Code for rubber parts
V = FPM (Viton)
E = EPDM

4| Code for shaft seal materials _ pag.203

Pole
Null = 2 pole

Frequency
5=50Hz

Code for pipe connection
F = Round flange

N = Oval flange

LF = Loose round flange

V = Victaulic® connection
C = Clamp connection

Code for pump version
null = standard version

| Number of impellers
|Space
| Flow rate [m3/h]
[11815110]15]20
| Serles name
Example for pump without motor Example for pump with motor
EVMSG5 2F5Q1BEGE EVMSG5 2F5Q1BEGE/0.37M
NAMEPLATE
c E 1) “TYPE" Pump model
2) Q" Indicates upper and lower flow rate limits
MADE IN ITALY 3) “H” Indicates head limits corresponding to minimum and maximum flow rate
TYPE O 4)  “Hmax” Maximum head
; 5)  “Hmin” Minimum head
O ‘Hmax @ m_|Hrin @ m ‘ O 6) “P2” Rated power of the motor (output at shaft)
'O Umin |H ® m 7)  “HP” Rated power of the motor expressed in HP (Horse Power)
R @) WH min* (9) 8) ‘“HZ' Frequency
HP @ o 9) “min-1" Speed of rotation
10) “P/N°” Pump item number
wel> (i) ok (1) % 11) “MEI" Index of the pump’s quality in relation to its efficiency
12) “Hyd. Eff. ” Hydraulic efficiency of the pump

103

EPA



VERTICAL PUMPS EVMSG

PERFORMANCE RANGE 50 Hz

EVMSG 1-3-5-10-15-20

USgam. 5 10 5 2 40 50 60 70 80 90100 120 140160180200 250 300 350400 500
| | | | | | | | I I | | 11 1 | | 11 |
T T T T T T J T T T 17T T T T 1T T T T T
mp.gp.m. 5 1 5 X B 40 50 60 70 80 90100 120 140 160180200 250 300 350 400
40— 400
p H 1200
MP
MPal 50 ™ 209 S ol
4 L k
25- 20 - : L0
20- 200 —— T . T I
: ; 5 . ) i N RN - 600
| | | ~
159 150 i i : ! - 500
| | | |
124 120 ; — ; i 400
| I —
1.0 100 } — } | 30
[ B I - 300
- 1 Ml
08 80 i T i - 250
| | | I
06 60 | Ly | | L 200
I I |
| | - - Ia . Al | L
08 % | 1 3 5 0[ 15120032 457764 150
04 4 ;
0.3 30 | I — 100
[ i
| | 75
0.2+ 20 T = | ] - L =
0.15] 16 - 50
T T ——— ITT 4
\ ~. - 40
A \ \
0.1 10
N\ \ T
0.09- 9 \ \H--JM 2
0.08- 8 \ s
0.07 7 |
0.06 6 20
0.05 5
- 15
0.04 - 4
910 5 20 30 40 50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000
Q [Vmin]
I T T T T T T T T T 1T T T T 1T T T T T T T T
1 15 2 3 4 5 6 7 891 1214161820 25 30 40 5 60 70 100 5
Q[mh]
0 FEFF RRERR
LY 5
n 8 520 [ —Ei—F
) sl | 10— T
60 1 ;_ - o —’ - »
-~ -l 32
50 P L
40 el s
30
910 15 20 30 40 50 60 80 100 120 150 200 250 300 400 500 60O 700800 1000 1200 1500 2000
Q [Vmin]

104

EPA



VERTICAL PUMPS EVM SG

CURVE SPECIFICATIONS 50 Hz

The specifications below qualify the curves shown on the following pages.

Tolerances according to ISO 9906:2012 - Grade 3B.

The curves refer to effective speed of asynchronous motors at 50 Hz, 2 poles.

Measurements were carried out with clean water at 20°C of temperature and with a kinematic
viscosity of n = 1 mm?/s (1 cSt).

The NPSH curve is an average curve obtained in the same conditions of performance curves.
During the pump selection, consider to get a safety margin of at least 0.5 m.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.
In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of
best efficiency point.

Symbols explanation:

Q = volume flow rate

H = total head

P, = pump power input (shaft power)

h = pump efficiency

NPSH = net positive suction head required by the pump
MEI = minimum efficiency index

The minimum efficiency index (MEI) is a measure of the quality of a pump size in respect to its mean
efficiency. The minimum efficiency index is based on the hydraulic efficiency and on the head at the
best efficiency point.

The efficiency of a pump with trimmed impeller is usually lower than that of a pump with the full impeller
diameter. The trimming of the impeller will adapt the pump to a fixed duty point, leading to a reduced
energy consumption. The minimum efficiency index (MEI) is based on the full impeller diameter.

The operation of these water pumps with variable duty points may be more efficient and economical
when controlled, for example, by the use of a variable speed drive that matches the pump duty to the system.

Minimum efficiency index (MEI)

Pump type MEI
EVMSG1 >0.70
EVMSG3 >0.70
EVMSG5 >0.70
EVMSG10 >0.70
EVMSG15 >0.70
EVMSG20 >0.70

105

EPA



VERTICAL PUMPS

EVMSG

SELECTION CHART

50

Hz

EVMSG 1-3-5
Maximum Q=Capacity
Pump Type Motor working [Vmin 0| 12 | 20 | 30 | 40 | 60 | 75 | 100 | 130
KW HP  Size | pressure Im¥h 0/ 0.72| 1.2 | 18 | 24 | 36 | 45 | 6 | 78
Single phase Three phase (MPa) H=Total manometric head in meters
EVMSG1 2/0.37M EVMSGL1 2/0.37 0.37| 05 71 11.9 11.2 10.4 9.1 7.1 - - -
EVMSG1 3/0.37M | EVMSGL1 3/0.37 037/ 05| 71 17.9 | 168 | 156 | 136 | 106 | - - -
EVMSGL 4/0.37M__| EVMSGL 4/0.37 037/ 05| 71 238 | 224 | 208 | 182 | 142 | - - -
EVMSG15/0.37M | EVMSGL1 5/0.37 037/ 05| 71 30 | 28 | 26 [227] 177 - - -
EVMSGL1 6/0.37M | EVMSGL 6/0.37 037/ 05| 71 358 | 336 312 | 273 | 212 | - - -
EVMSG1 7/0.37M EVMSG1 7/0.37 0.37| 0.5 71 41.5 39.2 36.4 31.8 | 24.8 - - -
EVMSG1 8/0.37M EVMSG1 8/0.37 0.37] 0.5 71 47.5 44.5 41.5 36.4 | 28.3 - - -
EVMSG1 9/0.55M | EVMSGL 9/0.55 055|075 71 535 | 505| 47 | 41 | 318 - - -
EVMSG1 10/0.55M | EVMSG110/055 | 0.55]0.75| 71 596 | 56 | 52 | 455 | 354 | - - -
EVMSGL111/055M | EVMSG111/055 |0.55]0.75] 71 16 655 | 615| 57 | 50 | 389 | - - -
EVMSGL12/055M | EVMSG112/055  [055]075] 71 715 | 67 | 625 | 545 | 425 | - - -
EVMSG1 13/055M | EVMSG113/055 | 0.55]0.75| 71 775 | 73 | 675 | 59 | 46 | - - -
EVMSGL1 14/0.75M EVMSG1 14/0.75 0.75 1 80 83.5 78.5 73 63.5 | 49.5 - - -
EVMSG116/0.75M | EVMSG116/0.75 | 0.75] 1 | 80 955 | 895| 83 | 725 | 565 | - - -
EVMSG1 18/1.1M EVMSG1 18/1.1 1.1 ] 15 80 107 101 93.5 82 63.5 - - -
EVMSG1 20/1.1M EVMSG1 20/1.1 11115 80 119 112 104 91 71 - - -
EVMSG122/1.1M | EVMSG122/1.1 11]15] 80 131 | 123 | 114 | 100 | 78 | - - -
EVMSGL 24/1.1M | EVMSGI 24/1.1 11]15] 80 143 | 135 | 125 | 109 | 85 | - - -
EVMSG126/1.1M | EVMSGL 26/1.1 11]15] 80 155 | 146 | 135 | 118 | 92 | - - -
EVMSGL 27/15M | EVMSG127/1.5 15| 2 | %0s 161 | 151 | 140 | 123 | 955 | - - -
EVMSG129/15M | EVMSGI 29/1.5 15| 2 | 90s 173 | 163 | 151 | 132 | 108 | - - -
EVMSGI 32/15M | EVMSG132/1.5 15| 2 | 90s . 191 | 179 | 166 | 145 | 113 | - - -
EVMSGI 34/15M | EVMSGI 34/1.5 15| 2 | 908 203 | 191 | 177 | 155 | 120 | - - -
EVMSG137/22M | EVMSG1 37/2.2 22| 3 | 9oL 221 | 207 | 192 | 168 | 131 | - - -
EVMSG1 39/2.2M EVMSG1 39/2.2 2.2 3 90 L 232 219 203 177 138 - - -
EVMSG3 2/0.37M | EVMSG3 2/0.37 037] 05| 71 147 | - | 141 | 136 | 129 | 109 | 83 | -
EVMSG33/0.37M | EVMSG3 3/0.37 037/ 05| 71 221 | - | 211 | 204 | 194 | 164 | 125 -
EVMSGS3 4/0.37M__| EVMSG3 4/0.37 037/ 05[] 71 295 | - | 282 | 271 258 219|167 - -
EVMSG35/0.55M | EVMSG3 5/0.55 055|075] 71 369 | - | 352 | 339 | 323274209 -
EVMSG3 6/0.55M | EVMSG3 6/0.55 055|075 71 442 | - | 425 | 405 | 388 | 328 | 25 | - -
EVMSG3 7/0.75M EVMSG3 7/0.75 0.75 1 80 51.5 - 49.5 47.5 45 38.3 | 29.2 -
EVMSG38/0.75M | EVMSG3 8/0.75 075] 1 | 80 59 - | 565 | 545|515 | 44 | 334 - -
EVMSG3 9/1.1M EVMSG3 9/1.1 11]15] 80 665 | - | 635 | 61 | 58 | 49 | 376| -
EVMSG3 10/1.1M | EVMSG310/1.1 11]15] 80 16 735 | - | 705 | 68 | 645 | 545|415 - -
EVMSG3 11/1.1M | EVMSG3 11/1.1 11]15] 80 81 - | 775 745 71 | 60 | 46 | -
EVMSG3 12/1.1M | EVMSG3 12/1.1 11| 15| 80 885 | - | 845 | 815 775 | 655 | 50 | - -
EVMSG3 13/1.5M EVMSG3 13/1.5 1.5 2 90 S 96 - 91.5 88 84 71 54.5 -
EVMSG3 14/15M | EVMSG3 14/1.5 15| 2 | 90s 108 | - [ 985 | 95 | 905 765 | 585 - -
EVMSG3 15/15M | EVMSG3 15/1.5 15| 2 | 90s 111 - | 106 | 102 | 97 | 82 | 625 -
EVMSG3 16/L5M | EVMSG3 16/1.5 15| 2 | 90s 118 | - [ 113 | 109 | 103 [ 875 | 67 | - -
EVMSG317/22M | EVMSG317/2.2 22| 3 | 9oL 125 - | 120 [ 115 [ 110 | 93 | 71 | -
EVMSG319/2.2M | EVMSG3 19/2.2 22| 3 | 9oL 140 - | 134 | 129 | 123 | 104 | 795 | - -
EVMSG321/22M | EVMSG3 21/2.2 22| 3 | 9oL 155 - | 148 | 142 | 136 | 115 | 875 - -
EVMSG323/2.2M | EVMSG3 23/2.2 22| 3 | 9oL 170 - | 162 | 156 | 149 | 126 | 96 | - -
EVMSG3 24/2.2M | EVMSG3 24/2.2 22| 3 | 9oL 177 - | 169 | 163 | 155 | 131 | 100 | - -

- EVMSGS3 25/3.0 30| 4 | 100L 184 - | a7e | 170 | 161 | 137 | 104 | - -

- EVMSG3 27/3.0 30| 4 [10L| 25 199 - | 100 | 183 | 174 | 148 | 113 | - -

- EVMSG3 29/3.0 30| 4 | 100L 214 - | 204 | 197 | 187 | 159 | 121 | - -

- EVMSGS3 31/3.0 30| 4 | 100L 229 - | 218 | 210 | 200 | 170 | 129 | - -

- EVMSG3 33/3.0 30| 4 | 100L 243 - | 232 | 224 | 213 | 181 | 138 | - -
EVMSG5 2/0.37M__|_EVMSGS 2/0.37 037] 05| 71 19 - - 18 | 17.1 | 16 | 138 | 10.2
EVMSG5 3/0.55M | EVMSGS5 3/0.55 055[075] 71 284 | - - - | 269 256 [ 23.9] 207 | 153
EVMSGS 4/0.75M | EVMSGS 4/0.75 075] 1 | 80 379 | - - - | 359341 [31.9] 276 | 204
EVMSGS5 5/1.1M EVMSG5 5/1.1 11]15] 80 475 | - - - | 45 [ 425 [309] 345 | 255
EVMSG5 6/1.5M EVMSGS5 6/1.5 15| 2 | %0s 57 - - 54 | 51 | 48 | 415 | 30.6
EVMSGS 7/1.5M EVMSG5 7/1.5 15| 2 | 90s 665 | - - - | 63 | 595 | 56 | 485 | 357
EVMSGS 8/2.2M EVMSGS 8/2.2 22| 3 | 9oL 76 - - 72 | 68 | 64 | 55 | a1
EVMSG5 9/2.2M EVMSG5 9/2.2 22| 3 | 9oL 16 855 | - - - |1 | 77 [ 72| 62 | 46
EVMSG5 10/2.2M EVMSGS 10/2.2 22| 3 | 9oL 95 - - 90 | 855 80 | 69 | 51
EVMSG5 11/2.2M EVMSG5 11/2.2 22| 3 | 9oL 104 | - - - | 985] 94 |875| 76 | 56

- EVMSG5 12/3.0 30| 4 | 100L 114 - - 108 | 102 | 955 | 83 | 61

- EVMSGS 13/3.0 30| 4 | 100L 123 - - - | 117 [ 111 | 104 | 895 | 665

- EVMSGS5 14/3.0 3.0 4 100 L 133 - - 126 119 112 96.5 71.5

- EVMSGS 15/3.0 30| 4 | 100L 142 - - - | 135 | 128 | 120 | 104 | 765

- EVMSG5 17/4.0 40 | 55| 112M 161 - - 153 145 136 117 86.5

- EVMSG5 19/4.0 40 | 55| 112M 180 - - 171 162 152 131 97

- EVMSGS 20/4.0 4055 112M 190 - - - | 179 [ 171 [ 160 | 138 | 102

- EVMSG5 23/5.5 55| 75| 1325 | 25 218 - - 206 | 196 | 183 | 159 | 117

- EVMSG5 25/5.5 55| 75| 132s 237 - - 224 | 213 | 199 | 173 | 127

- EVMSG5 27/5.5 55| 75| 132S 256 - - 242 | 230 | 215 | 186 | 138

1.6 MPa=16 bar ; 2.5 MPa=25 bar

106

EPA



VERTICAL PUMPS

EVMSG

SELECTION CHART

50 Hz

EVMSG 10-15-20

Maximum Q=Capacity
Pump Type Motor working [l/min 0| 75 100 130 150 180 200 250 300 350 400 450 480
KW | HP | size | pressure | mh 0‘ 45 ‘ 60 | 78 } 90 | 108 | 120| 150 | 180 ‘ 210 ‘ 240 ‘ 27.0 ‘ 288
Single phase Three phase (MPa) H=Total manometric head in meters

EVMSG10 2/0.75M EVMSG10 2/0.75 0.75 1 80 21.8 21.2 20.8 19.7 18.7 16.6 14.9 9.8 - - - - -
EVMSG10 3/1.5M EVMSG10 3/1.5 15 2 90S 32.7 31.8 31.2 29.6 28.0 249 | 224 | 147 - - - - -
EVMSG10 4/2.2M EVMSG10 4/2.2 2.2 3 90 L 43.6 42.4 41.7 39.5 37.3 33.2 29.8 19.6 - - - - -
EVMSG10 5/2.2M EVMSG10 5/2.2 2.2 3 90 L 54.5 53 52 49.3 46.7 41.5 37.3 24.6 - - - - -
EVMSG10 6/2.2M EVMSG10 6/2.2 2.2 3 NL 65.5 63.5 62.5 59 56 50 45 29.5 - - - - -

- EVMSG10 7/3.0 3.0 4 100 L 76.5 74 73 69 65.5 58 52 34.4 - - - - -

- EVMSG10 8/3.0 3.0 4 100 L 16 87.0 84.5 83.5 79 74.5 66.5 | 59.5| 39.3 - - - - -

- EVMSG10 9/4.0 4.0 55| 112 M 98 95.5 93.5 89 84 74.5 67 44 - - - - -

- EVMSG10 10/4.0 40 | 55| 112M 109 106 104 98.5 93.5 83 74.5 49 - - - - -

10 - EVMSG10 11/4.0 40| 55| 112M 120 116 115 109 103 91.5 82 54 - - - - -

- EVMSG10 12/5.5 55| 75| 132S 131 127 125 118 112 99.5 89.5 59 - - - - -

- EVMSG10 14/5.5 55| 75| 132S 153 148 146 138 131 116 104 68.5 - - - - -

- EVMSG10 15/5.5 55| 75| 132S 163 159 156 148 140 124 112 735 - - - - -

- EVMSG10 16/7.5 7.5 10 132’ S 174 169 167 158 149 133 119 78.5 - - - - -

- EVMSG10 18/7.5 75| 10 | 1328 196 191 187 178 168 149 134 88.5 - - - - -

- EVMSG10 19/7.5 7.5 10 132’ S 25 207 201 198 188 177 158 142 93.5 - - - - -

- EVMSG10 21/7.5 7.5 10 132 S 229 222 219 207 196 174 157 103 - - - - -

- EVMSG10 22/11 11 15 160 M 240 233 229 217 205 183 164 108 - - - - -

- EVMSG10 23/11 11 15 160 M 251 244 240 227 215 191 172 113 - - - - -
EVMSG15 1/1.1M EVMSG15 1/1.1 1.1 1.5 80 14.9 - - 13.3 13 12.4 12.1 10.8 9.5 7.5 4.8 - -
EVMSG15 2/2.2M EVMSG15 2/2.2 2.2 3 90 L 29.5 - - 275 27.1 26 26.1 | 249 23.1 | 204 | 16.8 - =

- EVMSG15 3/3.0 3.0 4 100 L 445 - - 415 40.5 39.7 | 39.1| 373 34.7 | 30.6 | 25.2 - -

- EVMSG15 4/4.0 40 | 55| 112 M 59 - - 55 54.5 53 52 50 46.5 41 33.6 - -

- EVMSG15 5/5.5 55| 75| 132S 73.5 - - 69 68 66 65 62 58 51 42 - -

- EVMSG15 6/5.5 55| 75 ] 1328 1.6 88.5 - - 82.5 81.5 79.5 78 74.5 69.5 61 50.5 - -

- EVMSG15 7/7.5 7.5 10 132’ S 103 - - 96.5 95.0 92.5 91 87 81 715 | 58.5 - -

15 - EVMSG15 8/7.5 75| 10 | 132S 118 - - 110 109 106 104 99.5 925 | 815 67 - -

- EVMSG15 9/11 11 15 160 M 133 - - 124 122 119 117 112 104 92 75.5 - -

- EVMSG15 10/11 11 15 160 M 147 - - 138 136 132 130 124 116 102 84 - -

- EVMSG15 11/11 11 15 | 160 M 162 - - 151 149 146 143 137 127 112 | 92.5 - -

- EVMSG15 12/11 11 15 160 M 177 - - 165 163 159 156 149 139 122 101 - -

- EVMSG15 13/11 11 15 | 160 M 25 191 - - 179 176 172 169 162 150 133 109 - -

- EVMSG15 15/15 15 20 | 160 M 221 - - 206 203 199 195 187 174 153 126 - -

- EVMSG15 17/15 15 20 | 160 M 250 - - 234 231 225 221 211 197 173 143 - -
EVMSG 20 1/1.5M EVMSG20 1/1.5 1.5 2 90 S 17.2 - - - - 14.3 13.9 12.8 11.3 9.6 7.3 4.3 2.4

- EVMSG20 2/3.0 3.0 4 100 L 33.7 - - - - 304 | 29.9| 289 27.7 | 26.2 | 236 | 199 | 174

- EVMSG20 3/4.0 40 | 55| 112M 50.5 - - - - 46 45 43.4 416 | 39.2 | 355 | 299 | 26.2

- EVMSG20 4/5.5 55| 75| 132S 67.4 - - - - 61 60 58 55.4 | 52.3 | 47.3 | 39.8 | 349

- EVMSG20 5/7.5 7.5 10 132 S 1.6 84.2 - - - - 76.0 75 72.3 69.3 65.4 59 49.8 | 43.6

- EVMSG20 6/7.5 75| 10 | 1328 101 - - - - 91.2 90 87 83.1 | 785 71 59.7 | 52.3

- EVMSG20 7/11 11 15 160 M 118 - - - - 106 105 101 97 915 | 82.7 70 61.1

20 - EVMSG20 8/11 11 15 | 160 M 135 - - - - 122 120 116 111 105 95 80 70

- EVMSG20 9/11 11 15 160 M 152 - - - - 137 135 130 125 118 106 89.6 79

- EVMSG20 10/11 11 15 | 160 M 168 - - - - 152 150 145 139 131 118 100 87

- EVMSG20 11/15 15 20 160 M 185 - - - - 167 165 159 152 144 130 110 96

- EVMSG20 12/15 15 20 160 M 202 - - - - 182 179 173 166 157 142 119 105

- EVMSG20 13/15 15 20 | 160 M 25 219 - - - - 198 194 188 180 170 154 129 113

- EVMSG20 14/18.5 18.5| 25 160 L 236 - - - - 213 209 202 194 183 166 139 122

- EVMSG20 15/18.5 18.5| 25 160 L 253 - - - - 228 224 217 208 196 177 149 131

- EVMSG20 16/18.5 18.5| 25 160 L 270 - - - - 243 239 231 222 209 189 159 140

1.6 MPa=16 bar ; 2.5 MPa=25 bar

107

EPA



EVMSG

VERTICAL PUMPS

50 Hz

PERFORMANCE CURVE

EVMSG1

12 13

11

10

2

U.s.g.p.m.

0

1"

Imp.g.p.m.

I— 800

H
i

=700

— 600

- 500

- 400
- 300
— 200

100

‘|\. /1] \\\+‘|HH‘H‘.HmH\|\|\|H\|wHHH.HHH|

L TN

-

~—

1T

A [ A A L AU A U ]

[ Nl T T T T T [ T

Il | [ | | Lo bl
=) — = =] =1 [=] (=)

[MPg]

2.0

1.0
05—
0_

Q [V/min]

45

40

15 20 25

10

]
Q[m/h]

28

26

24

22

20

18

16

14

12

10

0.8

06

04

0.2

60

%l

40

20

NPSH

il

-2

—10

Q [l/min]

45

40

35

SINGLE IMPELLER kW

30

25

20

15

—
\\

"
—
—

10

012

P2
(kW] 008

0u

0.00

NPSH §

[m]

15 20 25 30 35 40 45 Q [l/min]

10

200

Rotation speed 2900 min™
Test standard: 1SO 9906:2012 - Grade 3B

EPA



VERTICAL PUMPS

EVMSG

TECHNICAL DATA

50 Hz

Dimensional sketch
Oval flange (N)

G1"

(s
4ho|es@12‘_

1B
2
AT T cas
Jiiine!
oN
I
-
s
100
149
160

2 holes M10
|
I \¥‘ Gas
4600y
il
L .75 i
180
210

EVMSG1

Ebara factory motors (European) not generally fitted in Australia. Example only.

Dimensions [mm] and Weights [Kg]

Note: Dimensions H3, C & B may vary depending on motor type fitted. Dimensions refer to

DIN Round flange (F) - DN25
c
\ B
\
£ )
&
,e il
A “T(TH
g 4 holes 214
& & 7 G38
- —Tw I~ |2
sie p e
oL e E ;
H [ i ] (s Al
100 18 4 holes 212 ‘ <
149
250

Motor Oval flange (N) Round flange (F)
Pmax - 1~ 3~ Weight weight Weight weight

Pump Type pel kW Size A H2 Purgp Pump + Motor H2 Purgp Pump + Motor

B C H3| B C H3 1~ 3~ 1~ 3~
EVMSG1 2/0.37 1.6 0.37 71 | 9105|139 133 216|139 114 216| 250 14 21.1 19.8 275 17.4 245 23.2
EVMSG1 3/0.37 1.6 0.37 71 | 2105|139 133 216139 114 216] 271 14.5 21.6 20.3 296 17.9 25 23.7
EVMSG1 4/0.37 1.6 0.37 71 2105] 139 133 216[139 114 216| 292 14.9 22 20.7 317 18.3 25.4 24.1
EVMSG1 5/0.37 1.6 0.37 71 | 2105|139 133 216139 114 216] 313 15.4 225 21.2 338 18.8 25.9 24.6
EVMSGL1 6/0.37 1.6 0.37 71 2105] 139 133 216]139 114 216| 334 15.8 22.9 21.6 359 19.2 26.3 25
EVMSG1 7/0.37 1.6 0.37 71 | 9105|139 133 216]139 114 216| 355 16.2 23.3 22 380 19.6 26.7 25.4
EVMSGL1 8/0.37 1.6 0.37 71 2105] 139 133 216]139 114 216| 376 16.7 23.8 22.5 401 20.1 27.2 25.9
EVMSG1 9/0.55 1.6 0.55 71 2105] 139 133 216(139 114 216| 397 17.1 25.6 233 422 20.5 29 26.7
EVMSGL1 10/0.55 1.6 0.55 71 2105] 139 133 216]139 114 216| 418 17.5 26 23.7 443 20.9 29.4 27.1
EVMSG1 11/0.55 1.6 0.55 71 | 9105|139 133 216|139 114 216| 439 18 26.5 24.2 464 21.4 29.9 27.6
EVMSG1 12/0.55 1.6 0.55 71 | 2105|139 133 216139 114 216 460 18.7 27.2 24.9 485 22.1 30.6 28.3
EVMSG1 13/0.55 1.6 0.55 71 2105] 139 133 216]139 114 216| 481 19.3 27.8 25.5 506 22.7 31.2 28.9
EVMSG1 14/0.75 1.6 0.75 80 |w@120|160 151 232|160 139 232] 512 20 31.4 29.5 537 23.4 34.8 32.9
EVMSGL1 16/0.75 1.6 0.75 80 2120|160 151 232]160 139 232| 554 21 324 30.5 579 24.4 35.8 33.9
EVMSG1 18/1.1 1.6 1.1 80 |@120]160 151 232|160 139 232| 596 22.1 33.9 33.2 621 25.5 37.3 36.6
EVMSGL1 20/1.1 1.6 11 80 2120|160 151 232|160 139 232| 638 23.1 34.9 34.2 663 26.5 38.3 37.6
EVMSG1 22/1.1 1.6 1.1 80 2120|160 151 232|160 139 232| 680 243 36.1 35.4 705 27.7 39.5 38.8
EVMSG1 24/1.1 1.6 1.1 80 | 2120|160 151 232|160 139 232 722 25.3 37.1 36.4 747 28.7 40.5 39.8
EVMSGL1 26/1.1 1.6 1.1 80 2120|160 151 232|160 139 232| 764 26.3 38.1 37.4 789 29.7 41.5 40.8
EVMSG1 27/1.5 25 15 90S | 140|172 140 278|180 148 267| - - - - 820 30.1 47.9 42.8
EVMSGL1 29/1.5 25 15 90S | 9140|172 140 278]180 148 267 - - - - 862 31.1 48.9 43.8
EVMSG1 32/1.5 25 15 90S | 140|172 140 278|180 148 267| - - - - 925 32.4 50.2 45.1
EVMSGL1 34/1.5 25 15 90S | 9140|172 140 278]180 148 267 - - - - 967 33.3 51.1 46
EVMSG1 37/2.2 25 2.2 9L | 2140|172 140 278|180 148 267 - - - - 1030 34.7 54.2 50.7
EVMSG1 39/2.2 2.5 2.2 9L | 2140|172 140 278|180 148 267 - - - - 1072 35.7 55.2 51.7

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- not available model

201

EPA



VERTICAL PUMPS EVM SG

SECTIONAL VIEW 50 Hz

EVMSG1

with Round flange (F)

5-2
5-3

433

521 —g ) | Dk

441 = || KR _—
\‘ - 21

437 — <41 '

5-1

107
75-1
2731
2121

219

with Oval flange (N) 202

EPA



VERTICAL PUMPS

EVMSG

SECTIONAL TABLE

50 Hz

EVMSG1

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250-EN1561
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-7 Spacer EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4  |Seal holder EN 1.4301 (AISI 304)
111-5 |Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM D. 129.54x5.34 OR 6510
115-4  |O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
117 Flange gasket EPDM
120-1 |Tie-rod Galvanized steel 6.8 strength class ISO 898/1 M10
120-3  |Screw A2-70 UNI 7323 M4x10 ISO 4762
120-6 Screw for coupling Galvanized steel M6x25 ISO 4762
120-11 |Screw for counterflange A2-70 UNI 7323
120-13 |Screw for motor MEC 71-80 Galvanized steel 8.8 strength class ISO 898/1 MEx20 150 4017
MEC 90 M8x20 ISO 4017
128-1 Nut for tie rod Galvanized steel M10 UNI 5588
128-6  |Nut for coupling Galvanized steel M6 ISO 4032
130-1 |Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D. 4x32 UNI 4838
135-1 |Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6 |Washer Carbon Steel a6
137-1  |Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu?2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1  |Plug EN 1.4301 (AISI 304) G 3/8
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1 |Plug Washer EN 1.4301 (AISI 304)
203

EPA



EVMSG

VERTICAL PUMPS

50 Hz

QUANTITY FOR MODEL

EVMSG1

1s)
Bl111111111111111111111111
—
N
ml111111111111111111111111
—
<
52222222222222222222222222
-
i
Hl111111111111111111111111
—
b
nl111111111111111111111111
—
i
”..1111111111111111111111111
—
—
Al A A A A A A A A A A A A A A A A A A A A A A A A A
-
™~
oflalafm|ls|olo|lolalsloe|lslo|lals]|s|o
=1 I IR I R e il el Rl Rl Rl R R Rl Rl vl RV IR el U IR Rl IS ol )
-
N A R A R R R A R A R A A R A R A A A B A A R A R B A S
~
I R R e e e e e e e e e R e e e L e L A R
—
N R R R I R R R R R R R R R R R R R R A R R
0
%1111111111111111111111111
e IR I 0 Sl SN R R I I I N Il Rl R R N I S I Il Il Il R e
B R RN B B R R N R R N T T T K K O O O K T T T N
—
Yl R SR EEE EEE Rl Rl Kl Bl Bl el S N SN R Y S Y S YR SR Y YR SR Y
<
~
Sl==========|=]=]=]=]=]=]a]a]a|a]a]|a]|=]=]=
<
e
ol === 1<=]=]=]=1=]==]=|<]=1=]=1=|=|=|=]=|=|=|=|=|=
<
)
nﬁvl111111111122222222222222
<
o~
by [ PSS I I Iy T R R S RN B =1 BN R = N B L A B A B A S
Mw PNl O]|o|o]lF|FTF|w|[o]o|lo]|~
-
nﬁ_l111111111111111111111111
2]
b=1 8 N Sl N N N N R N Rl R Sl RN Rl RN R R R Il N N N e
— oflala|m]|s|olololals|ol=lo|la|s]|s|o
1M R IRCH I IECl IR Il ISl I i R R R I IR I IRl IRV RSV IRl VIR RSV RN RN RN R}
[l BEl BEl BE B B B B Bl Bl BEl BE BE BE Bl Bl Bl Bl Bl Bl Bl B B Bl Bl Bt
(o] Bl BB IRl Bl Bl Bl BB Bl Bl B B B B B B B B el Bl Bl E B B Bl Il
Ml]11111111111111111111111
™
M I I R N R R R R R R R A A A R
DN ololdlo|lv]~|ola|lols|olo|o]s]o
Y Bl il B ARCH I BTl IRl Bl Bl B =i I I e I I I IRV RVl IRV IRexl RSVl RGN SN R
Ml111111111111111111111111
| A A A A A A A A A A A A A A A A A
wloflwlw|w]w
ISl S B S B o Bl el il il R el S S e e E el R s R
P I c ic icy [icy [icy [ =3 S0 BB =B o S S Il Sl Sl [l Sl Sl Rl Bl e
o cl1elelelelelelelsl=lalals|leola|slals|es|=|a|lals]=]|o
[ 3 Sl Rl = NGRS ool RS Il IR R B RS I il Il IRV ISV (Rl IRV RV IRl RN (oo )
ES = = = =N (=0 N =0 0 0 =0 R = e = =l =l =N =0 0 P O e e e
(O RUR RUR ROR HOR HOR NON NON RO ROR RON RON ROR ROR HOR ROR RON NON RON RON ROR ROR ROR ROR B
Q njiufulunlulunlunlunlunlunlunlunlunlulunlnlunlunlunlrulrunlnln]ln]lwv
£ ===z 1=1=z1=21=21=21=21=21=21=21=21=21=21=21=21=21=21=21=21=21=2]=2
=1 Bl P I P P I A I P A e L A e A e A A P A A A e A
o I R R R N N R R p Tt g g

—
SRR R RN R R Rl Rl Rl R R R R e R
N
1)
Mz2722222272222227222222?2
*
wz272222227222222722//////
~N
q
Hlll1111111111111111111111
N
o
T O R e O e e
N
N
ﬂl11111111‘1111111‘1111111‘11
o~
wll‘l111111‘111111‘1111111‘111
o
.AI—..Z22222222?222222722222272
Ny
MEREEEEEEEEENEE SN EE SN SN EE BN BN BN BN BN EE EN EN EE N EE BN e
—
@
LSS SE S S S SE A A A A A A SA A NA SA A SR S SE A A NA S
—
i
P2l R R e i e e
—
i
= SN RN BN N SN EN EE EN EN N SN N N SN BN SN BN N SN BN S B
—
°
z
N
=1 e R e e e
—
pry
wné333333333333333333333333
—
@
NSASESESE S S S SA S A S SA SE A A A SA A A A A R A A
—
o
TS I I e e e e e e e
—
™
—
S AR SR A SR A A S S A SR A A A S A A S A A SR EA R N
N
—
*
b=
DY I o o o R e I e R R e R B e B
2
—
<
ISIGE A RASA SR GA A A A SA A A AR A A AR A A RE A A A
—
®
ISIGE A RASE SR GA A A A SA A A A RE A A AR A A RE A A A
—
iy
<IEESESE A A A A S S SA SA A A A SA S S S A A A A A RA N
—
*
NZ27222222?222222722//////
—
[Eol REoRN REoRN NEoHN NUSHN Nio)

Pl Dy iy pic Dy i il Pl ISR ES) IS ISR Eol) = Bl ) IS el =l ISl Sl ol ISl I
o 1222121212122l |1a9|als ez |s|alFle|=]s|a|T (=]
p23@4567891]111112722227¢333
N Bl Bl Eal Enl Enl Bal Bal Bal Bal Bl Bl Bl Bal Bal Bal Bal Bal Eal Bul Bal Bal Bl Bl Bl Bl
F o lJololololoflololololololo|lolololololololololo]|o oo
o |o|lo|ala|lalala|lalalalalala|lalolalala|lalalalal|a|a|o
IS = = = = =l = = = = [ i ) N e e D D e = P = = e e
=R P P P P P D D I D D D D D I P P D P D e
a | oo J oo oo oo j oo oo J o oo f oo oo f i fio oo j o i | j i i j oo j o i jo )W

* only for Oval flange (N)

204

EPA



VERTICAL PUMPS

PERFORMANCE CURVE 50 Hz
EVMSG3
0 USagpm. 4 6 8 10 12 14 16 18 20 22
| | | | | | | | | | | |
I T T T T T T T T T
0 Impgpm. 4 B 8 10 12 14 16 18
280
I~ 900
p H
[MPa] [ml H
]
24 =
240 +— | | 800
| |
\ |
. L 700
27 e — o
| |
\ I
[— N— — 600
T 2412.2kW— |
187 180 —
[— —21/2.2kW __ - 500
—
12— _] I~ 400
120 == 16/1.50w —_
— —14/1.5kW —
= —12/1.1kW — | - 300
0.8 80 ———
— —10/1.1kW — _
= —8/0.75kW— - 200
04 4 = 6/0.55KW— -
— —4/0.37kW— = 100
0- 0 0
0 10 20 30 40 50 60 70 80 Q[l/min]
T T T T T T T T T T T 3
0.0 0.5 1.0 15 20 25 3.0 3.5 4.0 45 5.0 Qmh]
0.16 T 70
P2 n% N
kW] 012 —— 50 [%]
//
/
—]
008 — 30
= SINGLE IMPELLER kW
004 | | | 10
0 10 20 30 40 50 60 70 80 Q [l/min]
NPSH * NPSH
] 0w
2
5
0 0
0 10 20 30 40 50 60 70 80 Q [l/min]
Rotation speed K2900 min™
Test standard: 1SO 9906:2012 - Grade 3B 205

EPA



VERTICAL PUMPS

EVMSG

TECHNICAL DATA

50 Hz

Dimensional sketch
Oval flange (N)

H3

H2

AT ] c3s

G

(
4 holes @12 ‘»

EVMSG3
DIN Round flange (F) - DN25
c
| B
2 ;
P
7€B L0
A [T ;‘ﬁ
2 holes M10 g 4 holes @14
T cw
— - o I |2 i
] S el 1= S
ﬁ H er—=— 5 i )
*‘1%50' ] 100 18 4 holes 212 ” 085 g
210 149 180
250 210

Note: Dimensions H3, C & B may vary depending on motor type fitted. Dimensions refer to
Ebara factory motors (European) not generally fitted in Australia. Example only.

Dimensions [mm] and Weights [Kg]

Motor Oval flange (N) Round flange (F)
Pmax ; 1~ 3~ Weight Weight Weight Weight
Pump Type (MPa] kw Size A H2 Purgp Pump + Motor H2 Purgp Pump + Motor
B C H3|B C H3 1~ 3~ 1~ 3~

EVMSG3 2/0.37 1.6 0.37 71 | e105|139 133 216|139 114 216| 250 | 12.9 20 18.7 275 15.7 22.8 21.5
EVMSG3 3/0.37 1.6 0.37 71 9105|139 133 216|139 114 216| 271 13.3 20.4 19.1 296 16.1 23.2 21.9
EVMSG3 4/0.37 1.6 0.37 71 2105|139 133 216|139 114 216| 292 13.8 20.9 19.6 317 16.6 23.7 22.4
EVMSG3 5/0.55 1.6 0.55 71 9105|139 133 216|139 114 216| 313 14.2 22.7 20.4 338 17 25.5 23.2
EVMSG3 6/0.55 1.6 0.55 71 2105|139 133 216|139 114 216| 334 14.7 23.2 20.9 359 17.4 25.9 23.6
EVMSG3 7/0.75 1.6 0.75 80 9120 160 151 232|160 139 232| 365 15.6 27 25.1 390 18.3 29.7 27.8
EVMSG3 8/0.75 1.6 0.75 80 2120 | 160 151 232|160 139 232| 386 16 274 255 411 18.8 30.2 28.3
EVMSG3 9/1.1 1.6 1.1 80 |e@120|160 151 232]|160 139 232| 407 | 16.4 28.2 27.5 432 19.2 31 30.3
EVMSG3 10/1.1 1.6 1.1 80 2120 | 160 151 232|160 139 232| 428 16.9 28.7 28 453 19.7 31.5 30.8
EVMSG3 11/1.1 1.6 1.1 80 2120 160 151 232|160 139 232| 449 17.3 29.1 28.4 474 20.1 31.9 31.2
EVMSG3 12/1.1 1.6 1.1 80 2120|160 151 232|160 139 232| 470 17.8 29.6 28.9 495 20.6 324 31.7
EVMSG3 13/1.5 1.6 1.5 90S | 9140|172 140 278|180 148 267 | 501 18.5 36.3 325 526 21.3 39.1 35.3
EVMSG3 14/1.5 1.6 1.5 90S | 9140|172 140 278|180 148 267 | 522 19 36.8 31.7 547 21.7 39.5 34.4
EVMSG3 15/1.5 1.6 15 90S | 2140|172 140 278|180 148 267| 543 | 19.4 37.2 32.1 568 22.2 40 34.9
EVMSG3 16/1.5 1.6 15 90S | 9140|172 140 278|180 148 267 | 564 20.5 38.3 33.2 589 23.2 41 35.9
EVMSG3 17/2.2 1.6 2.2 90L | 2140|172 140 278|180 148 267 | 585 20.9 40.4 36.9 610 23.7 43.2 39.7
EVMSG3 19/2.2 1.6 22 9L |e140|172 140 278|180 148 267| 627 | 21.9 41.4 37.9 652 24.7 44.2 40.7
EVMSG3 21/2.2 1.6 2.2 90L | 2140|172 140 278)180 148 267 | 669 22.8 42.3 38.8 694 25.6 45.1 41.6
EVMSG3 23/2.2 25 2.2 90 L | 2140|172 140 278|180 148 267 - - - 736 26.6 46.1 42.6
EVMSG3 24/2.2 25 2.2 90L | 140|172 140 278|180 148 267 - - - - 757 27 46.5 43

EVMSG3 25/3.0 2.5 3.0 100 L | 2160 - - - 196 155 306 - - 788 27.6 - 50.4
EVMSG3 27/3.0 25 3.0 100 L | 2160 - - - 196 155 306 - - 830 28.6 - 51.4
EVMSG3 29/3.0 25 3.0 100L | 2160 - - - 196 155 306 - - 872 29.6 - 52.4
EVMSG3 31/3.0 2.5 3.0 100 L | 2160 - - - 196 155 306 - - 914 30.5 - 53.3
EVMSG3 33/3.0 25 3.0 100L | #160| - - - | 196 155 306 - - 956 31.3 - 54.1

1.6 MPa=16 bar ; 2.5 MPa=25 bar

206

EPA



EVMSG

VERTICAL PUMPS

50 Hz

SECTIONAL VIEW

EVMSG3

with Round flange (F)

140

128-6
135-6
120-6

-~ Y - - -

321

162
1311

130-2
130-1

120-3

245

128-1
135-1
2122
115-4

eI 325538 8RA
\\\\\\\ //\/
/
N |
DNLANNANN NN N
V
| 2
\ (— " v
T T 9 Se MR AN IR-

120-11

117

219

with Oval flange (N)

207

EPA



VERTICAL PUMPS

EVMSG

SECTIONAL TABLE

50 Hz

EVMSG3

Ne PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG

4 Casing cover EN 1.4301 (AISI 304)

5-1 Suction casing EN 1.4301 (AISI 304)

5-2 Intermediate Casing EN 1.4301 (AISI 304)

5-3 Intermediate casing bearing EN 1.4301 (AISI 304)

5-4 Discharge casing EN 1.4301 (AISI 304)

6 Bottom casing Cast Iron EN GJL-250-EN1561

7 Outer casing EN 1.4301 (AISI 304)

21 Impeller EN 1.4301 (AISI 304)

31 Shaft EN 1.4301 (AISI 304)

32-1 Adjuster Key EN 1.4301 (AISI 304)

43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)

43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)

43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)

43-7 Spacer EN 1.4301 (AISI 304)

44-1 Shaft sleeve bearing Tungsten carbide

46 Ring (mechanical seal) EN 1.4404 (AISI 316L)

47 Ring Holder EN 1.4301 (AISI 304)

48 Impeller nut A2-70 UNI 7323 with inox insert M8

52-1 Bearing Tungsten carbide

75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050

75-1 O-Ring (plug) EPDM

107 Liner ring EN 1.4301 (AISI 304) + PPS

111 Mechanical Seal SiC/Carbon/EPDM

111-3  |Mechanical seal seat EN 1.4301 (AISI 304)

111-4  |Seal holder EN 1.4301 (AISI 304)

111-5 |Mechanical seal cartridge EN 1.4301 (AISI 304)

115-1 |O-Ring (outer casing) EPDM D. 129.54x5.34| OR 6510

115-4 O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115

115-5 |O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131

117 Flange gasket EPDM

120-1 |Tie-rod Galvanized steel 6.8 strength class ISO 898/1 M10

120-3 Screw A2-70 UNI 7323 M4x10 1ISO 4762

120-6  |Screw for coupling Galvanized steel M6x25 1ISO 4762

120-11 |Screw for counterflange A2-70 UNI 7323

120-13 |Screw for motor MEC 71-80 Galvanized steel 8.8 strength class ISO 898/1 MEx20 SO 4017
MEC 90-100 M8x20 1SO 4017

128-1  |Nut for tie rod Galvanized steel M10 UNI 5588

128-6  |Nut for coupling Galvanized steel M6 1SO 4032

130-1 |Set screw A2-70 UNI 7323 M5x8 UNI 5923

130-2  |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

131-1  |Pin for shaft Carbon Steel D. 4x32 UNI 4838

135-1 |Washer Galvanized steel D. 10.5x21x2 UNI 6592

135-6 |Washer Carbon Steel 26

137-1  |Impeller spacer EN 1.4301 (AISI 304)

140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) G 3/8

212-1 |Plug EN 1.4301 (AISI 304) G 3/8

212-2  |Venting plug EN 1.4404 (AISI 316L)

219 Counter flange Galvanized steel

245 Coupling guard EN 1.4301 (AISI 304)

273-1 Plug Washer EN 1.4301 (AISI 304)

208

EPA



EVMSG

VERTICAL PUMPS

50 Hz

QUANTITY FOR MODEL

EVMSG3

[To)
@ A== ===~ == == == 2= 2 2 2 e e e
—
¥
e 1=t == 1=l 1= 1= == 2 2 2 2 2 e
—
-
ﬁ2222222227222222722222272
—
o
H1111111111111111111111111
—
b
=== 1= 1= 1= == == 2 2 2 2 2 e e e e
—
@
Hll11111111111111111111111
—
—
=GB ol Aol ol Kol Aol ) Gl ) A R Al Rl Gl Kol oG8 1 S o Sl BN ol A B
~
o old|y|ols|o]lel~ o]l lt|lol=lo | |2
S1VI1F12 19 1212 == == =2 = 2 S e s e e e e |
—
N G R N B A R N B A B B A KA B KA KA B K B K B A A BA B3
~
Rl=l==l= == =l= == == == === == === = = =
~
E Bl Sl K=l Bl Bl Gl Kal Bl Bl B K=l 5 oY1 G0 KsYE Y SV KaV2 5NN KoYH IS KSR N YA I
o
RI=1=== == == == =2 = == =2 = = 2 = = =
S1=l= == == == == = = 2= 2= = 2 e e = = e
Z 9
-2 [N KX KSV0 [V KV Ko KV (N KV KoV KV (N KSVH o KV KN (NN KSVH Ko KN (SN N Ko KoY (N
—
< =122 2 2o o oo o e fos fon o fou o o fe
<
~
Al=1=1=1=1=l=1=1=1=1=1=1=1=l= 1=l === === ===
<
[To)
s l=1=1=1=1=1=1=1=1=1=1=1=1=1=1=1=" 1= 1= = =1 1= 1= 1= |-
<
™
I Gl Gl Kl G Kl Gl K20 Gl Kol el Kl Y Y Y Y1 51 50 61 6 Y1 Y G Y Y IS
<
o~
b “|olul~loldlolals |ele |la]lelo o] o | le o
M/357911111222222334444556
—
S l=l=l=l= == l=l=l=l= ===l === == == === ]=
™
=8 Sl G B0 B Kl ol 1 ol Bl G R0 Gl Gl Bl Kl G Bl Kl G Rl G G Rl el B
o o|l-|x|ols|o e~ lo]= o= ]|
NN R R D 2l A Il el S =1 R R 1 el IS e = B R R RNl RN (G KU S R Red
~ == == == == == == == == = = = = = =
o = |=l=l=l=l==l=1=l=1=]l= ===l = == === == |~
s-T=-1=1-T-I-1=[-1-[=[=T-1-[-T-]-T-1--T-]- - 1=~ |-
M111111111.1122222?222222?2
N v ~ =1 =1 E=1 50 1 A EY k= AN IS SR SR s 1=
P il Al R R A e S 1 0 B e 1 1 1 =1 G Y Y 5 6 s )
~
s> 1= 2 2 2 =2 2 2 2 e e
Bl B B 21 B 21 BN 1 Bl K21 G K21 ol Kl 8 Kl G Bl K=l G K1 5 G Rad Bl G
ﬂ7~ﬂﬁ%c7uﬁl1_115555.272.2200000
IoN Kol Koed I ) 3 Al ldl= D]l D a |a QN i Qo Jos |or %)
olo|e slelsl=ISIEISRIEIFIEISIERISEIFIZIZIZLE]2
© 212112112112 1S9 N | S e I IS8 B 520 oA e I K=E A K
o S IR A I K B S S R e Bl L Rl o Bl B S Y G S 50 Y0 IS ke el
2 ofolo|olelolololo|ole]o oo ]oolo]ofo]o]o o]0 ]|o]o
[OF [OF (o] [OF KO} [OF (O] [OF KO} [OF [V [OF KO [OF [0 [OF (O] KO} (O [V (O] (O} [OF (OF (O]
=3 (0 (%0 120 [0 20 [0 F20 (%8 K20 (%0 R2) (%28 2N (%N K20 [0 1N N2d (%N 2] (% (%] ] 121 1]
£ ZIZ1ZI1Z 121212121212 12121212 1212 12 1212 1212 12 12 12 ) 2
S B B P P ) B P S o D e ) B - P B P e s P P e e
o JUN} AU Ty U yery jeuy o7y jauy o7} ey frTy jORR ye7 jeUy o7 jeuy jeNy jT) [A6R jeTy jeUy jeUR jeuy jevy )

-
o || l== === === 2= = = = 2 = 2 e e e e |
~
[
o2 SN KXW RV SN RSV KXW KoV ESXR KoV KXW KoVR (SN RGN KN KVR (NN KN KSVR KSR VY KN KoNY KSR [Nl Ko
N
*
.nw.222222222227222222///////
N
o
&= l=lal = al=l ===l === === === =] <<= ]=]=]|=
—
N
—
& = === == == == = == = = = e e e e e e e |
-
N
S === == == == = = 2 = = = = 2 = = = = =
N
S 1=l == == == == = = = = = = = = e = e 2
—
IS 0 K3 1 0 N1 61 1 5 1 540 Y 1 Y Y Y S Y Y Y S S I I G Y
-
-
IS SR BN K21 BN 21 B2l K1 B Kl Bl K=l Bl =1 Kl K=l Kh Kl K=l Bl Kl Bl el Bl B B
]
—
©
S === 1 == 2 = == e e 2l = e e e e e e e e e e ) e
™
—
<
LRSI SIS NI SR BA NI Bl N B NI EI N B A N B K BA B KA A B
™
—
-
i Rl Bl Kol Bl Kol Bl Bl Bl Bl Bl Bl Bl Rl Bl Kol Bl Bl Bl Bl Bl Bl Kl 5l e B
o ™
z <
o
R BN R N BRI BRI Bl N R N B KA B A N B K BA B B A B
@
—
-
& |o|ofo|o oo ]olo|o|olo|o]o]o]m]ofo]m]ofo]o]ofo]o o
@
—
©
o ||| == =l= 2= 2= === 2 = == e e e | e
N
—
-
o [ |==|= === === === == 2 = == = e 2 | =
N
—
3
s 1= == 1= 2 e e e e e e e e
&
—
5
< = |=l== === === == = = = e = = = = =
<
]
—
©
Sl l=l=l= === l= ==~ === === 2 = == = = 2 | =
2
—
™
Sl l=l=l= === |=l= ]| = 2= === 2 = 2= = = 2 | =
&
—
-
SRS R N R R BRI Bl N R N B KA B A N R Bl BA B B A B
&
—
*
[l KN N0 KVY K IOVH KN KoY ESNH KUY KU ISV KN Ko KNl VR SNl KGNl KVl B o Bl e Bl B B
—
o IS P> [0 %=1 1) o) I R B Ko fch o) Y ¥ 6 KN N N N1 £ 51 (ST £ 1)
PR ich D] pech et et ] B ] S Bl Sl IS S ) ] ) K ] ] el g o g 1
» SIS NS SR EHE E E IR B E E E B R ELE R EL R B
o SN Ko Bl REoN NCo) Rany Kool Kool Kl Bl Kol Rl Eol Bl Bl Exl Bl EaVE IS ESV0 BN A AN ool fsel
k= o fofmlololololalolalm]lolalalolalolololaloloala]lo]x
(O] [OF [O] [OF [O] O] (U] [OR U] (O] (O] O] (O] (O] (O} (O] (O] [O] (O] O] [OF O] O] IO} (O]
o [0 K00 20 2N N2 K°20 N22K N %20 Koo N20 Nooh Non) Koom o0 Kook Ioh I a1 2] kon koa a1 1
£ Z1IZIZIZ 121212 1212121212112 121212121212 121212 )| 2
S B B P B P B P P e D e o B I B e e e I e e e e
[ £ | o | o f o f oo f o] o o o f o f o f o f oo o f o o f o o fE0 ) Cof o f it f oo

* only for Oval flange (N)

209

EPA



EVMSG

VERTICAL PUMPS
PERFORMANCE CURVE 50 Hz
EVMSG5
0 USgpm 5 10 15 20 2 30 35
| | | | | | | |
| T T T T T T
0 Impg.p.m. 5 10 15 20 25 30
280
— 900
p H | |
MPe] im] o H
_ | If
24 ™ | 800
[ |
BN
— 700
209
L —20/4.0kW —~—
_ Lioimow— — 600
-
L TN —
1 1 — 500
- —15/3.0kW —
b ok ——
1
12 — — —13/3.0kW — _| L 400
120 _— ——
— —11/2.2kW —- |
- - 300
08 " ——9/2.2kW— 1— -
I 7 - -
o — 200
— ——5/1:.5kv:v— — _
04— = =410 T W=
——=3/0.55kW—F— 100
| |
| T
N EEEEEEEE
0 20 40 60 80 100 120 Q [Vmin]
| T T T T T 3
0 1 3 6 7 Q[
032 70
P2 - . n
q—
W] 024 — n% 50  [%]
018 — — 30
| SINGLE IMPELLER kw
0 20 40 60 80 100 120 Q [Vmin]
NPSH 5 45 NPSH
[m] I
3 o 10
-5
1
0 20 40 60 80 100 120 Q [Vmin]
Rotation speed 2900 min™
Test standard: 1ISO 9906:2012 - Grade 3B 210

EPA



VERTICAL PUMPS

EVMSG

TECHNICAL DATA

50 Hz

Dimensional sketch
Oval flange (N) DIN Round flange (F) - DN32
,LT c
B %4.1;5
£ ’ 2 L
© kg
4 Q | u @ |
[E— b =
A!@& 1] cus AT [T css
E= E =)
o o~
T 2 holes M10 T 4 holes 318
L
- = i i G3/8 - EV = o
I R Py I
=z 4l lEe e s
o ‘ 1| ] 1 -
mi q\Tr @IQI‘ ﬂjﬁ o (i il * R — ‘J 1 \ £ r s n - \
O [Fr—r—m C I —]
100 sroesot2 || | 75 8 ‘ ‘ |
. o0 N 1100 20 4 holes 212 2100 &
180 210 149 180
250 210
Note: Dimensions H3, C & B may vary depending on motor type fitted. Dimensions refer to
Ebara factory motors (European) not generally fitted in Australia. Example only.
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
1~ 3~ . Weight . Weight
Pmax | kw  Size A H2 | Weight  pymp + Motor H2 | Weight by 4 Motor
Pump Type [MPa] Pum P Pum P
B Cc H3|B Cc H3 Pl oa- 3- Pl oa- 3~
EVMSGS5 2/0.37 1.6 0.37 71 | 2105]|139 133 216|139 114 216| 264 13 20.1 18.8 289 17.5 24.6 23.3
EVMSGS5 3/0.55 1.6 0.55 71 2105|139 133 216|139 114 216| 292 135 22 19.7 317 18 26.5 24.2
EVMSGS5 4/0.75 1.6 0.75 80 2120 | 160 151 232|160 139 232| 330 14.5 25.9 24 355 19 30.4 28.5
EVMSG5 5/1.1 1.6 1.1 80 2120 | 160 151 232|160 139 232| 358 15 26.8 26.1 383 19.5 31.3 30.6
EVMSGS5 6/1.5 1.6 15 90S | @140 172 140 278|180 148 267| 396 15.5 33.3 28.2 421 20.1 37.9 32.8
EVMSG5 7/1.5 1.6 15 90S | 9140|172 140 278|180 148 267| 424 16 338 29 449 20.5 38.3 33.2
EVMSGS5 8/2.2 1.6 2.2 90L |@140|172 140 278|180 148 267| 452 16.6 36.1 326 477 21.1 40.6 37.1
EVMSG5 9/2.2 1.6 2.2 90L | 2140|172 140 278|180 148 267| 480 17.1 36.6 33.1 505 21.6 41.1 37.6
EVMSG5 10/2.2 1.6 2.2 90L | 2140|172 140 278|180 148 267| 508 17.6 37.1 33.6 533 221 41.6 38.1
EVMSG5 11/2.2 1.6 2.2 90L | 2140|172 140 278|180 148 267| 536 18.4 37.9 34.4 561 22.9 42.4 38.9
EVMSG5 12/3.0 1.6 3.0 | 100L | @160 - - - |196 155 306| 574 19.6 - 42.4 599 24.1 - 46.9
EVMSGS5 13/3.0 1.6 3.0 100L | 2160 | - - - 1196 155 306| 602 20.2 - 43 627 24.7 - 47.5
EVMSG5 14/3.0 1.6 3.0 | 100L | @160 - - - 196 155 306| 630 20.8 - 43.6 655 25.3 - 48.1
EVMSGS5 15/3.0 1.6 3.0 100L | p160| - - - [196 155 306| 658 21.8 - 44.6 683 26.3 - 49.1
EVMSG5 17/4.0 1.6 40 | 112m| @160 - - - |196 155 306| 714 225 - 49 739 27 - 53.5
EVMSG5 19/4.0 25 40 | 112M|@160]| - - - |196 155 306 - - - 795 28.1 - 54.6
EVMSGS5 20/4.0 25 4.0 112M | 2160 | - - - [ 196 155 306 - - - - 823 30.3 - 56.8
EVMSGS5 23/5.5 25 5.5 132S | 2300 | - - - 1225 160 328 - - - 1001 37 - 75.6
EVMSGS5 25/5.5 25 55 | 1325 | @300| - - - |225 160 328 - - - 1057 38 - 76.6
EVMSGS5 27/5.5 25 55 | 132S | @300 - - - 225 160 328 - - - 1113 39.6 - 78.2

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- not available model

211

EPA



VERTICAL PUMPS

SECTIONAL VIEW

EVMSG5

)/

1177

N\

with Oval flange (N)

T —— 52
— 5

—V

21
5-1
107
75-1
273-1
2121

212

EPA



VERTICAL PUMPS

EVMSG

SECTIONAL TABLE

50 Hz

EVMSG5
Ne PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250-EN1561
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4462 (AISI 329A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shalft sleeve (adjustment) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3 [Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 [Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 |O-Ring (outer casing) EPDM D. 129.54x5.34 OR 6510
115-4 |O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 [O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
117 Flange gasket EPDM
120-1 |Tie-rod Galvanized steel 6.8 strength class 1ISO 898/1 M10
120-3  |Screw A2-70 UNI 7323 M4x10 ISO 4762
120-6  [Screw for coupling Upto40kW | Galvanized steel M6x25 ISO 4762
above 5.5 kW M8x20 ISO 4762
120-11 (Screw for counterflange A2-70 UNI 7323
MEC 71-80 M6x20 ISO 4017
120-13 |[Screw for motor MEC 90-100-112 Galvanized steel 8.8 strength class ISO 898/1 M8x20 1ISO 4017
MEC 132 M12x40 ISO 4017
128-1  [Nut for tie rod Galvanized steel M10 UNI 5588
128-3  [Nut (motor) MEC 132 Galvanized steel M12 I1SO 4032
128-6  [Nut for coupling Galvanized steel M6 I1SO 4032
130-1 |[Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1  [Pin for shaft Carbon Steel D. 4x32 UNI 4838
135-1 [Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6  [Washer Carbon Steel 76
137-1  |Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast aluminium EN AB-AISI11Cu2 (Fe)
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1  [Plug EN 1.4301 (AISI 304) G 3/8
212-2  [Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1  [Plug Washer EN 1.4301 (AISI 304)
213

EPA



EVMSG

VERTICAL PUMPS

50 Hz

QUANTITY FOR MODEL

EVMSG5

N°
32-1]|43-2|43-3| 43-4| 43-5| 44-1| 46| 47| 48| 52-1| 75| 75-1| 107 | 111|111-3| 111-4| 111-5| 115-1 | 115-4 | 115-5

17
17
19
21

23
25
29
33
35
41

45

1
1
1
1
1
1
1
1
1
1
1
1

111110
11111
11112
1]1]13
111]14
1]1]15
11117
111119
1]1]20
111]23
111125
111]27

1
1
1
1
1
1
1
1
1
1
1
1

2

2
2

2
2
3

11

14
16

20
22
23

45-1|5-2|5-3| 5-4| 6| 7| 21| 31***

1
1
1

1

1

1

1] 1]10f 2

1] 1]12) 2

1] 1]17] 2

Pump Type

EVMSG5 2/0.37

EVMSG5 3/0.55

EVMSG5 4/0.75

EVMSG5 5/1.1

EVMSG5 6/1.5

EVMSG5 7/1.5

EVMSG5 8/2.2

EVMSG5 9/2.2

EVMSG5 10/2.2

EVMSG5 11/2.2

EVMSG5 12/3.0

EVMSG5 13/3.0

EVMSG5 14/3.0

EVMSG5 15/3.0

EVMSG5 17/4.0

EVMSG5 19/4.0

EVMSG5 20/4.0

EVMSG5 23/5.5

EVMSG5 25/5.5

EVMSG5 27/5.5

-
@ 1=~ === = == == = S
o~
0
M22222222222222222222
3
AN NN NN NN NN NN RN R R
[N
q
Hlllllllllllllllllll]
N
b
CEE NI SIS NI S S S N S A S N A S N
I
o~
ﬂ11111111111111111111
o
=2 Rl Bl Rl R Rt Rt Rl il Gl Kl Bl el Bl Rl Bl el B Bl B B
[=)
M22222222222222222222
<
Wlllllllllllllllllll]
~
Q@
FRASINININISI SIS SIS NI G N N NN
-
<
S 1=~~~ == = = 2 2 e e
<~
=
Mllllllllllllllllllll
~
o o
Z 2 1=1=1= == = = e e e e e e
-
by
%33333333333333333333
<~
©
R AR N I A N A A A I b B bl Al el e
—
@
%/////l///l//////l444
~
b
S SIS SIS NI S SIS NI S N S BN S S
-
™
-
S ===l =l=]~l= ===~ = === <= =] =
I
-
*
b
PO Bl B e R B S S el S e B R e R e B R B B B
I
-
e
A SININI S SIS NI SIS N S N N N N S N
-
@
ISESISININI S SIS NI SIS NI B S S B N S i B
—
Iy
IS NI A N NI AN A A A I b S Al i bl b
—
*
Il N N N N T N N N N N N NN NN R RN R R
—
S18le N N1 B B B B B B B R R
clalslZlclslslSiglglelg|2)12l = =22 |2
o 212121212 1=219191 s S ) s = s =5 S o s | =
e B B B 1l Bl Y 2 e L e e e o e e I 6 5
2 [to) NToY N0} NTo) NUoR NToY NEOY NTo) NToY [To) NEo) NToY JEOY NTo) NUoY IYoY NTo) NEo} JToY J¥o)
Ol1OO]OJO|O|O|OOIO|OIO]O|OJO|O|O|O|OO
Q DNAD|ADDDD|D|DD]DD|DDD|D|D[D|N
£ ZIZIZZ2|=Z1 21212121 21212121212 121212]1 22
S B P P P B P B P e S e ) S S B B P B e
o JARR JUNY Y UNY QUNY UN] QUNR UNY JUNYQ QUNY QUAY UNY QUNQ JUNY QUSY JUNQ QU) QUNY pUSypiv

shaft in EN 1.4462 (AISI 329A)

or Oval flange (N)

Ihf

*on
*kk

214

EPA



VERTICAL PUMPS

EVMSG

PERFORMANCE CURVE 50 Hz
EVMSG10
0 USgpm. 10 20 30 40 50 60 70
| | | | | | |
| T T T T | T
0 Impgpm. 10 20 30 40 50 60
280
- 900
p H
[MPa] ml H
24— T L U
240 ‘ 800
— —21/7.5kW —
o - 700
20 L
200 — —18/7.5kW —]
- 600
- 1
164 160 15/‘5.5k\‘/\/—
——+ i — 500
|
= 125550
12+ 120 11/‘4.0k\‘N - 400
| |
I — 300
— —8/3.0kW—
0.8 - 80 | |
| |
L —6/2.2kW—
- — 200
—
04 40 r—
— — 3/1.5kW— 100
— —2/0.75kW —|
0 0 0
0 40 80 120 160 200 240 Q [Vmin]
| T T T T T T T T
0 2 4 6 8 10 12 14 16 Q[mh
048 80
P2 ] ] n
p— —
KWV 040 — % ~—— 60 %
- p——
032 e 40
" =
= SINGLE IMPELLER kW
U I I 20
0 40 80 120 160 200 240 Q [Umin]
NPSH * NPSH
[m] —— 0 m
2
5
0 0
0 40 80 120 160 200 240 Q [Umin]
Rotation speed K2900 min™
Test standard: 1SO 9906:2012 - Grade 3B 215

EPA



VERTICAL PUMPS

EVMSG

TECHNICAL DATA

50 Hz

Dimensional sketch
Oval flange (N)

c
B
: ‘
=
AL [T] c3m
==
£

f=1 E
00

INEEl

130
190

200

EVMSG10
DIN Round flange (F) - DN40
c
]
FQ;B
1B
<® Ll
A \ i1 \ GIB
f V.
: 2!
2 holes M12 g 4 holes 218
i :
o J J G318 - [ E— ;
=z A0l OJ" B ;g}gg <
, ‘ b I =l = Sil= [ R
4 hoes 12 e 8 ‘130‘ 20 ardeso12 || | gt
190 il
LL 280

Note: Dimensions H3, C & B may vary depending on motor type fitted. Dimensions refer to
Ebara factory motors (European) not generally fitted in Australia. Example only.

Dimensions [mm] and Weights [Kg]

Motor Oval flange (N) Round flange (F)
) Weight . Weight
Pump Type Pmax | ww  size A 1= 8- Hz2 | Weight  bymp + Motor H2 | Weight  pymp + Motor
[MPa] Pump Pump

B C H3| B C H3 1~ 3~ 1~ 3~
EVMSG10 2/0.75 1.6 0.75 80 2120|160 151 232|160 139 232| 343 21.6 33 311 343 24.3 35.7 33.8
EVMSG10 3/1.5 1.6 1.5 90S | #140| 172 140 278|180 148 267| 383 22.5 40.3 35.2 383 25.3 43.1 38
EVMSG10 4/2.2 1.6 2.2 90L | 2140|172 140 278|180 148 267| 413 23.3 42.8 39.3 413 26 45.5 42
EVMSG10 5/2.2 1.6 2.2 90L |2140| 172 140 278|180 148 267| 443 24.2 43.7 40.2 443 26.9 46.4 42.9
EVMSG10 6/2.2 1.6 2.2 90L | 2140|172 140 278|180 148 267| 473 25 44.5 41 473 27.7 47.2 43.7
EVMSG10 7/3.0 1.6 3.0 100 L | 2160 - - 1196 155 306| 513 26 - 48.8 513 28.7 515
EVMSG10 8/3.0 1.6 3.0 100L | 160 - - - | 196 155 306| 543 26.8 - 49.6 543 29.5 52.3
EVMSG10 9/4.0 1.6 4.0 112 M | 2160 - - 1196 155 306| 573 27.7 - 54.2 573 30.4 56.9
EVMSG10 10/4.0 1.6 4.0 112 M | 2160 - - 1196 155 306| 603 28.5 - 55 603 31.2 57.7
EVMSG10 11/4.0 1.6 4.0 112M | 2160 | - - - | 196 155 306| 633 30.1 - 56.6 633 32.9 59.4
EVMSG10 12/5.5 1.6 5.5 132 S | 300 - - 1225 160 328| 761 39.9 - 78.5 761 42.7 81.3
EVMSG10 14/5.5 1.6 5.5 132 S | 300 - - 1225 160 328| 821 41.8 - 80.4 821 44.5 83.1
EVMSG10 15/5.5 1.6 55 132S | 2300| - - - | 225 160 328| 851 42.7 - 81.3 851 45.4 84
EVMSG10 16/7.5 25 7.5 132 S | 300 - - 1225 160 350 - - - - 881 46.3 86.7
EVMSG10 18/7.5 25 7.5 132S | 8300| - - - | 225 160 350 - - - - 941 47.7 - 88.1
EVMSG10 19/7.5 25 7.5 132 S | 300 - - 1225 160 350 - - - - 971 49.1 89.5
EVMSG10 21/7.5 25 7.5 132S | 8300 - - - | 225 160 350 - - - - 1031 50.9 - 91.3
EVMSG10 22/11 2.5 11 160 M | 2350 - - | 248 194 476 - - - - 1091 53.2 115.7
EVMSG10 23/11 25 11 160 M | 2350 - - 1248 194 476 - - - - 1121 59.9 122.4

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

216

EPA



VERTICAL PUMPS EVM SG

SECTIONAL VIEW 50 Hz

6
117
120-11
219
\% s with Oval flange (N)
l)
L
S
<
140
¢ : 1206
o 1283
3241 | <N
162 — JO L A\
131-1 ‘ . T 212
130-2 @ <O L 75
130-1 .
1203 -
- 11-3
245 N 1156
128-1
1351 s
111
2122
e N 46
N 47
154 —— | |] N o4
115-1 ;
120-1 N 52
Y
82— ||| || A 53
433 o "
T
52-1 L
w— Q
8 — T B
. ol — Z 31
\ q - 21
% 5-1
Q 107
é 75-1
@ 27341
S 21241

with Round flange (F)
217

EPA



VERTICAL PUMPS

EVMSG

SECTIONAL TABLE

50 Hz

EVMSG10
N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250-EN1561
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D.12.37x2.62 | OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3  |Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 |Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 |O-Ring (outer casing) EPDM D. 164,46x5,34| OR 6645
115-4 |O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5 |O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
117 Flange gasket EPDM
120-1 |Tie-rod Galvanized steel 6.8 strength class ISO 898/1 M12
120-3 Screw A2-70 UNI 7323 M5x12 1SO 4762
up to 4.0 kW M6x25 1ISO 4762
120-6  |Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel M8x20 1ISO 4762
above 11 kW M10x30 1ISO 4762
120-11 |Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 1SO 4017
120-13 |Screw for motor MEC 90-100-112 Galvanized steel 8.8 strength class ISO 898/1 M8x20 ISO 4017
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 1ISO 4017
128-1  |Nut for tie rod Galvanized steel M12 UNI 5588
128-3  |Nut (motor) MEC 132 Galvanized steel M12 UNI 5588
MEC 160 M16 1SO 4032
130-1 |Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 |Pin for shaft Carbon Steel D. 5x35 UNI 4838
135-1 |Washer Galvanized steel D. 13x24x2,5 UNI 6592
137-1 |Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1 Plug EN 1.4301 (AISI 304) G 3/8
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1 |Plug Washer EN 1.4301 (AISI 304)
218

EPA



EVMSG

VERTICAL PUMPS

50 Hz

QUANTITY FOR MODEL

EVMSG10

37

1

1]11] 21

1

18

4 15-1|5-2|5-3|5-4| 6 | 7| 21 | 31]|32-1|43-2| 43-3| 44-1|46| 47]|48| 52-1| 75| 75-1] 107 | 111| 111-3| 111-4| 111-5| 115-1| 115-4| 115-5

1

Pump Type

EVMSG10 2/0.75
EVMSG10 3/1.5

EVMSG10 4/2.2

EVMSG10 5/2.2

EVMSGI10 6/2.2

EVMSG10 7/3.0

EVMSG10 8/3.0

EVMSG10 9/4.0

EVMSG10 10/4.0

EVMSG10 11/4.0

EVMSG10 12/5.5

EVMSG10 14/5.5

EVMSG10 15/5.5

EVMSG10 16/7.5

EVMSG10 18/7.5

EVMSG10 19/7.5

EVMSG10 21/7.5
EVMSG10 22/11

EVMSG10 23/11

—
H_4444444444444444444
N
)
M222222222222222?272
*
S ENT ST N0 5V Y1 50 1 o G Y S S Y B Y R R B
N
a
S === 1= == == = 2 2 2
N
b
' A B Bl R Bl S Sl e S Sl e S R S R B
~N
o
ﬂlllllllllllllll]l1l
N
M-I.llllllllllllll.ll.ll
=)
M222222222222222?27Z
N
Nlllllllllllllll‘llll
—
@
Pl S S S Sl Rl el e S Sl R e e R B B B B B B
—
-
P23 e Rl S S Rl S Rl B B Rl B B Rl B Bl B B B
—
i
Mlllllllllllllll]l]l
—
z o
=B R R B S R S R B B Bl B B Rl B Bl B B B B
—
b
m33n3,w333439u33ﬁ.u3u3ﬁ03ﬂ03d030
—
<@
%4444444444////////,/
—
Y
S Bl il i ol Bt il Bt Bl Bl e S S S S R Sl R S
—
by
RSN NI NI S SIS A NI A S SN A
—
™
—
<E AN SEEANANA NI A AN A A A A RA A KA KA NS
S
—
*
b=
s I=I=l= === == 1= == 1= = = = = = = -
]
—
«Q
ISE A6 A SN S N A A A A AN A hd i Sl
—
X
SENINISESA NSNS AN A A SIS S SN A
—
by
IS A6 A S NI A N S A A A AN A hd i hd Sl
—
«
[l VY VY RS SN T SN T S O G S S 1 S N R RN BN B
—
e} (3 I=] [0 [To8 o] (o0 ) [N Rnel
slEllERE B2 E R I g: 55 15 1
ai e s <EISIEIELEBEIBEISIEIRE
SIisl=ls1sl =151 12 o= o (=} I )
o NlO|F o |O= S| ||| | N |
=1 =1 =1 =0 T = T = T L L E E E E E E E
.W b1 el Bt Bt il fd et ] i B bl e K B
olo Q Qlo [OF (6} Q Q [V} (O}
=3 alejajo|2la|2|a|a|2|2|2|2|a|2|a |22 |2
€ SIZIZIZ 12121212 121212 121212 1212 1212 )12
S P B B B P P = e ) e e e e ) B P e
[y [} et} 5 jug o7} oug o) e guu ot} jug jeu) v ey yer) jouf o] v N

* only for Oval flange (N)

219

EPA



EVMSG

VERTICAL PUMPS

PERFORMANCE CURVE 50 Hz
EVMSG15
0 USgpm. 20 30 40 50 60 70 80 90 100 110 120 130
| | l l l l | l l l | l | |
| T T T T 1 T T T T I |
0 Impgpm. 20 30 40 50 60 70 80 90 100 110
280
- 900
p H
[MPa] ] H
— ]
24 17/15kW L [
240 = 800
~~—
| \\\
~~—_ 700
2.0 1 \\
200 ~
|~ 131k ™
13 1}1 vv}\ —l \ 00
\\ \
| o N
_ ‘ ‘ T~
18 180 = 11/11kw — \\
|| T AN — 500
\\ — \\ \
—
| [ — ~ .
124 4 | - | \\\ AN — 400
TeTsW— | \ | Ny
| — SRNN
o~ \
| ~— | "\+ - 300
— —6/5.5kW_ __ __|
0.8 — 80 { — - ™ I
I
Y I e, O N 200
= ——4/4.0kW— — —| __
| —~
Y N e £ TCT T S T !
2/2.‘2kW e —
T \‘
! | I T
0 100 200 300 400 Q [Vmin]
| T T T T T T T T T T T T T T 3
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 Q[mh
14 80
P2 — n
|t T—
KW 10 - % 60 %
[kw] — n% [%]
I
08 — = 40
SINGLE IMPELLER kW
02 | I 20
0 100 200 300 400 Q [Vmin]
NPSH 8 NPSH
m] — 2w
4
—T — 10
0 0
0 100 200 300 400 Q [Vmin]
Rotation speed 2900 min™
Test standard: 1SO 9906:2012 - Grade 3B 220

EPA



VERTICAL PUMPS EVM SG

TECHNICAL DATA 50 Hz

Dimensional sketch
Oval flange (N) DIN Round flange (F) - DN50
,LT c
%4J;B ( B
\
2 B
©
@
i U \ ;1
ACOT] cas AT cam
A"
E ﬁ s ==—
o o~
* 2 holes M12 T 4 holes 218
[ I - I
| \ ‘1 =) | 1=\l
I i i G3/8 = = ] G38
- e & gﬂ f\/gﬂ& e - —gigs ENY
g LGOI o €Ok s O =855 N2
[ i ] 1 =33 — | = , s
=] t - i =
4 holes 212 [
130 100, ~ 130 22 4 holes @12 2125 &
190 215
200 950 190 215
300 250
Note: Dimensions H3, C & B may vary depending on motor type fitted. Dimensions refer to
Ebara factory motors (European) not generally fitted in Australia. Example only.
Dimensions [mm] and Weights [K(]
Motor Oval flange (N) Round flange (F)
1~ 3~ . Weight . Weight
Pump Type Pmax | kw  size A H2 | Weight  pymp + Motor H2 | Weight  pymp + Motor
p Typ
[MPa] Pump Pump
B C H3| B C H3 1~ 3~ 1~ 3~
EVMSG15 1/1.1 1.6 1.1 80 | @120]|160 151 232|160 139 232| 377 22.4 34.2 335 377 26.9 38.7 38
EVMSG15 2/2.2 1.6 2.2 90L | 2140|172 140 278|180 148 267| 387 22.6 42.1 38.6 387 27.2 46.7 43.2
EVMSG15 3/3.0 1.6 3.0 100L | #160| - - - 1196 155 306| 437 24 - 46.8 437 285 - 51.3
EVMSG15 4/4.0 1.6 40 | 112S | @160| - - - | 196 155 306| 477 25.2 - 51.7 477 29.7 - 56.2
EVMSG15 5/5.5 1.6 55 | 132S | @300] - - - | 225 160 328| 614 34.9 - 735 614 39.5 - 78.1
EVMSG15 6/5.5 1.6 5.5 132S | 2300 - - - 1225 160 328| 654 36.1 - 4.7 654 40.7 - 79.3
EVMSG15 7/7.5 1.6 75 | 1325 | @300| - - - | 225 160 350| 694 38.3 - 78.7 694 42.9 - 83.3
EVMSG15 8/7.5 1.6 7.5 132S | 2300 - - - 1225 160 350| 734 39.6 - 80 734 44.2 - 84.6
EVMSG15 9/11 1.6 11 | 160M | @350 - - - | 248 194 476| 804 | 40.9 - 103.4 | 804 455 - 108
EVMSG15 10/11 1.6 11 | 160M | @350 - - - | 248 194 476| 844 | 422 - 104.7 | 844 46.8 - 109.3
EVMSG15 11/11 1.6 11 160M | 2350 | - - - | 248 194 476| 884 50.2 - 112.7 884 54.7 - 117.2
EVMSG15 12/11 25 11 | 160M | @350 - - - | 248 194 476| - - - - 924 56 - 118.5
EVMSG15 13/11 25 11 160M | @350 | - - - | 248 194 476 - - - - 964 57.3 - 119.8
EVMSG15 15/15 25 15 | 160 M| @350 - - - | 317 238 498| - - - - 1044 | 59.9 - 148.8
EVMSG15 17/15 25 15 160 M | 8350 | - - - | 317 238 498 - - - - 1124 62.8 - 151.7
1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

EPA



VERTICAL PUMPS

SECTIONAL VIEW

EVMSG15

117
120-11
219

120-13

with Oval flange (N)

with Round flange (F)

A

21
51
107
75-1
2731
21241

222

EPA



VERTICAL PUMPS

EVMSG

SECTIONAL TABLE

50 Hz

EVMSG15
N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250-EN1561
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
EN 1.4301 (AISI 304) -
st Shatt EN 1.4462 EAISI 3293-\)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-6 Washer EN 1.4404 (AISI 316L) D. 26x2.5
44-1 Shalft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D.12.37x2.62 | OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3  |Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 |Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 |O-Ring (outer casing) EPDM D. 164,46x5,34| OR 6645
115-4 |O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5 |O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
117 Flange gasket EPDM
120-1 |Tie-rod Galvanized steel 6.8 strength class 1ISO 898/1 M12
120-3 Screw A2-70 UNI 7323 M5x12 1ISO 4762
up to 4.0 kW M6x25 I1SO 4762
120-6 |Screw for coupling from 5.5 kKW to 7.5 kW Galvanized steel 6.8 strength class 1ISO 898/1 M8x20 1ISO 4762
above 11 kW M10x30 1ISO 4762
120-11 |Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 I1SO 4017
120-13 |Screw for motor MEC 90-100-112 Galvanized steel 8.8 strength class ISO 898/1 M8x20 SO 4017
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 I1SO 4017
128-1  |Nut for tie rod Galvanized steel M12 UNI 5588
128-3  |Nut (motor) MEC 132 Galvanized steel Mi2 UNI 5588
MEC 160 M16 1SO 4032
130-1 |Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2  |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 |Pin for shaft Carbon Steel D. 5x35 UNI 4838
135-1 |Washer Galvanized steel D. 13x24x2,5 UNI 6592
137-1 |Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1 Plug EN 1.4301 (AISI 304) G 3/8
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304)
223

EPA



EVMSG

VERTICAL PUMPS

50 Hz

QUANTITY FOR MODEL

EVMSG15

[ty)
Blllllllllllllll
—
I
Elllllllllllllll
—
o
B222222222222222
—
0
nlllllllllllllll
—
b
=== == == === = = 2
-
@
2= =1=== == == = 2 =]
-
—
= el K] o] Aol Ral Rl ol Kot Rl Bl Kol ol Kot Bl K
S |<|a]o|<]olo|~|o|a|2]2] 2] ]S
— AfA A A A
-
RSN ANA AN AN A A N A R A b
~
S Bl K N Y B 1 Bl 1 1 ol 1 Sl 1 e
by
NE Gl K21 =l Kol Gl Rl 5 oY1 Y1 50 Ko Y Y1 Y 2
0
R === === = === 2 = = =
S === == == === === =
°
z Q||| fe]o oo e for ferfer |
i
< ===l =]= =] ]| fafo o
<
©
o = l=l<l<l=1=<l=1=<]=1=1<|=|~|-|~
<
b
ICE Bl E21 K21 K20 G Kl 31 Y Y1 Y0 oY1 6 oY1 Y oYY
<
)
&111111222111112
<
o Alo|ol~]lo|a]o ]~
M//3579911111222
—
INE Bl K2l K=l Kal Bl K51 Bl K=l Bl Kol Kl Bl kel Bl K
™
b
LA Rl R B Bl Bl Kol Bl K2l Bl Bl Kol Bl Kol Kl Ko
™
— S EIS
SNl ]o e~ el 23S 225
N B 1 21 K21 S Kl B Kl el e Kl e 1 e B
o |—|al=]=l= == === == =]~
Mlllllllllllllll
™
Nl ol K=l Ba1 E=1 ol K1 X0 KoV K KN KVH 68 Y KNl K
Y-~ |=|~|= ]| |wo]e|~ o] || |0
5 Al
—
> 1=1=1=1= 1= == = = = 2 2 e
N B BT 21 21 1 el B Kl Bl e Kl R K1 R K
b N1 6 S B el el S T L T L L B
il NS R g Bl o] I g Bl B ) OV ] B S
° B & B I S G G L G e e el
I vlvlvlvlv]|vlv|lvlv|v]v]v]|v]w]wv
< o B L L L L L L L L L e
- OF k0] [O) KO (O] (O] [0 (O] (O] (O] (O] (O] kO] (O] U]
Q. DNADD[DD|D|DD|D]|D|D DD |V
£ Z1Z1Z1Z1Z12Z1Z121=2 12121212122
S P B B B B B B P B B P B P e
o AR VN ES RN R UV SN UNQ UNY JUNQ QUNY EAQ UR pESy g

245| 273-1

™

™

120-13 | 128-1| 128-3 | 128-6 | 130-1| 130-2 | 131-1| 135-1| 135-6| 137-1| 140 | 162 212 212-1| 212-2| 219*

120-1| 120-3 | 120-6 | 120-11*

117

Pump Type

EVMSG15 1/1.1

EVMSG15 2/2.2

EVMSG15 3/3.0

EVMSG15 4/4.0
EVMSG15 5/5

EVMSG15 6/5.5

EVMSG15 7/7.5

EVMSG15 8/7.5

EVMSG15 9/11

EVMSG15 10/11

EVMSG15 11/11

EVMSG15 12/11

EVMSG15 13/11

EVMSG15 15/15

EVMSG15 17/15

>
<
(2]
N
™
7
<
o
g
zs
el
2z
(]

= £
k=
3
S5

ﬁ)

*on
*kk

224

EPA



EVMSG

VERTICAL PUMPS
PERFORMANCE CURVE 50 Hz
EVMSG20
¢ uUSgpm 20 30 40 50 60 70 80 90 100 110 120 130
| | | | | | | | | | | | | |
| T T T T 1 T T T T 1 |
¢ Impgp.m. 20 30 40 50 60 70 80 90 100 110
280
HEER - 900
I
p
[MPe] [T H
. i
R IR EEL | o
N | | T
T * SNy
13115k 1 T | s - 700
wl | DTl NEEERRSSEN
b ~— Hl"l‘
| \\\\ | ‘ ! } ‘ H» L 600
T
‘ ! ! ! [ N ﬁ%
= N
164 160 1‘0/1‘1kiw\ INNRY i ! 1 } I i ‘ ~ ~ _H+
- ] | I i ‘ +Lr - 500
o —— RO
~ ekw T~ - | N WEE
12 - 120 ‘ ‘ I T T = \\\‘ ‘ \‘ ‘ — 400
(| ~--~~§ \\\ L'*N
= 6‘/7 ‘5k|W \\\‘\‘ N | !
T A T ey = _ RENE \‘L‘ - 30
nn B NG
— — \ ~
wsskw—— f_ | ~ D Lae
m e ~
340KW— — | | ~ ‘
of w0f—] 1
— T2B83.0kW—|—/— +— — L [ _| “““ — 100
an 1 [T
—'
I I N T ——
N Sl iAiAA NRNANARNNAnnnnnz==n gy
0 50 100 150 200 250 300 350 400 450 Q [Vmin]
| T T T T T T T T T T T T T T |
0 2 4 6 8 10 12 14 16 18 20 2 24 26 2 Qmh]
18 80
P2 | —— Tl
w14 — % — &
10 m——— 40
—-S_I-NGLE IMPELLER kW
0.6 i L L L L i L L L L i 20
0 50 100 150 200 250 300 350 400 450 Q [Vmin]
NPSH 10 3 NPSH
5 =
10
0 0
0 50 100 150 200 250 300 350 400 450 Q [Vmin]
Rotation speed 2900 min™
Test standard: 1SO 9906:2012 - Grade 3B 205

EPA



VERTICAL PUMPS EVM SG

TECHNICAL DATA 50 Hz

EVMSG20
Dimensional sketch
Oval flange (N) DIN Round flange (F) - DN50
c
B B
2 2
| J
.| G3m 17 e
g 2 holes M12 o 4 holes 518
1 f o
- e i ‘ G38 f [ N
g leeli=ls AT T Ee ] TERE
5 ) E (-
138 ros a1z %%’5» & ‘ 133 ‘ 2 ano 2 | ;5211255 <
200 250 200 %0

Note: Dimensions H3, C & B may vary depending on motor type fitted. Dimensions refer to
Ebara factory motors (European) not generally fitted in Australia. Example only.

Dimensions [mm] and Weights [Kg]

Motor Oval flange (N) Round flange (F)
Pmax ) 1~ 3~ Weight Weight Weight Weight

Pump Type pa kW  Size A H2 PE:?]p Pump + Motor H2 lergp Pump + Motor

B C H3| B C H3 1~ 3~ 1~ 3~
EVMSG20 1/1.5 1.6 1.5 90S | 9140|172 140 278180 148 267| 387 22.6 40.4 35.3 387 27.2 45 39.9
EVMSG20 2/3.0 1.6 3.0 100L | 2160 | - - - 1196 155 306| 397 22.7 - 455 397 27.3 - 50.1
EVMSG20 3/4.0 1.6 4.0 112 M | 160 | - - - | 196 155 306 | 437 24.1 - 50.6 437 28.7 - 55.2
EVMSG20 4/5.5 1.6 55 132 S | 8300 - - - 1225 160 328| 574 30 - 68.6 574 34.6 - 73.2
EVMSG20 5/7.5 1.6 7.5 132S | 2300 - - - 1225 160 350 614 31.2 - 71.6 614 35.9 - 76.3
EVMSG20 6/7.5 1.6 7.5 132 S | 8300 - - - 1225 160 350| 654 325 - 72.9 654 37.1 - 77.5
EVMSG20 7/11 1.6 11 160 M | 2350 - - - 1248 194 476 724 34.8 - 97.3 724 39.4 - 101.9
EVMSG20 8/11 1.6 11 160 M | 8350 | - - - | 248 194 476 764 46.6 - 109.1 764 51.2 - 113.7
EVMSG20 9/11 1.6 11 160 M | 2350 - - - 1248 194 476| 804 479 - 110.4 804 52.5 - 115
EVMSG20 10/11 25 11 160 M | 8350 | - - - | 248 194 476 - - - - 844 53.9 - 116.4
EVMSG20 11/15 25 15 160 M | 2350 - - - | 317 238 498 - - - - 884 55.2 - 1441
EVMSG20 12/15 25 15 160 M | 2350 - - - | 317 238 498 - - - - 924 56.5 - 145.4
EVMSG20 13/15 25 15 160 M | 8350 | - - - | 317 238 498 - - - - 964 57.9 - 146.8
EVMSG20 14/18.5 25 18.5 160 L | 350 - - - | 317 238 542 - - - - 1004 59.2 - 163.2
EVMSG20 15/18.5 25 18.5 160 L | 2350 - - - | 317 238 542 - - - - 1044 60.5 - 164.5
EVMSG20 16/18.5 25 18.5 160 L | 350 - - - | 317 238 542 - - - - 1084 61.8 - 165.8

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

226

EPA



50 Hz

EVMSG

EVMSG20

VERTICAL PUMPS
SECTIONAL VIEW

with Oval flange (N)

2121

AR \,\‘..:\*4\\

&

T N T T ® LT e Y YT ¥ 5 -~ m ©
1O P40 R B (N -]
a 2 - 00 o0 ® 0N L WMo mM®® N ~
L] m @ ® N N M v 4 A & D0 ©@

- = = - - -« - - - -~

227
EPA

with Round flange (F)




VERTICAL PUMPS

EVMSG

SECTIONAL TABLE

50 Hz

EVMSG20
N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250-EN1561
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
EN 1.4301 (AISI 304) -
s Shatt EN 1.4462 EAISI 329,)A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-6 Washer EN 1.4404 (AISI 316L) D. 26x2.5
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3 |Mechanical seal seat EN 1.4301 (AISI 304)
111-4 |Seal holder EN 1.4301 (AISI 304)
111-5 |Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 |O-Ring (outer casing) EPDM D. 164,46x5,34| OR 6645
115-4  |O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5 |O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
117 Flange gasket EPDM
120-1 |Tie-rod Galvanized steel 6.8 strength class ISO 898/1 M12
120-3 |Screw A2-70 UNI 7323 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762
120-6  |Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel 6.8 strength class 1ISO 898/1 M8x20 1ISO 4762
above 11 kW M10x30 1SO 4762
120-11 |Screw for counterflange A2-70 UNI 7323
MEC 90-100-112 M8x20 1SO 4017
120-13 |Screw for motor MEC 132 Galvanized steel 8.8 strength class 1ISO 898/1 M12x40 UNI 5739
MEC 160 M16x50 I1SO 4017
128-1  |Nut for tie rod Galvanized steel M12 UNI 5588
128-3  |Nut (motor) MEC 132 Galvanized steel M12 UNI 5588
MEC 160 M16 1SO 4032
130-1 |Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 |Pin for shaft Carbon Steel D. 5x35 UNI 4838
135-1 Washer Galvanized steel D. 13x24x2,5 UNI 6592
137-1  |Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1 |Plug EN 1.4301 (AISI 304) G 3/8
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1 |Plug Washer EN 1.4301 (AISI 304)

228

EPA



EVMSG

VERTICAL PUMPS

50 Hz

QUANTITY FOR MODEL

EVMSG20

[re)
51111111111111111
—
I
51111111111111111
—
oy
o I8 U ST (GU  KOTH K ISTY N KoY N N IS Nl K o
—
0
Mllllllllllllllll
~
A
hall Eall Ral Eal Rl Rl Ral Bl Eal Eull Rall Eull Eall Ral Eull Eull Al
-
@
Mllllllllllllllll
-
—
nllllllllllllllll
S |<|a]o]|<]|o]o|~]|=]|a|2]=] 2= 2] e
— =l Bl Bl Bl Bl Bl B
—
TR BN S S RN B N A A R A A
~
R === == === =] == === ]
b
INE Sl G G Kl Bl 1 6 YT 60 Y1 Y Y oY1 61 Y
)
R == =l==== == === == ]|
Mllllllllllllllll
o
Z Q||| ofe]ofofo o] oufer e
iy
N B G 1 Kl Bl 1 6 oY1 Y0 Y1 Y Y oY1 61 Y S
<
©
& | =I=l=l=1=1=1=1=1=1=1=1=]=1=1-
<
b
>N Bl el Bal Bal Bl Bl B Y B Y1 0 A Y Y Y
<
e
Il el Kl Gl Kl Bl B 6 Y Y0 Y1 Y Y oY1 61 Y S
<
q dlo|vl~lo|d|o|v]l~
M//35799111112222
~
INE Bl K21 K5l Kl Bl K0 Bl Kl Kol Kl Bl Kol B Bl Kl B
™
¥
P Bl Bl K=l Ral Bl ol Bl B Bl Kol Bal Bl Kl Bl Bl sl
™
b =1 B B E
I Gl Y G2 o e o o) (=2 B s I lodd e e
Nl 1 Gl Kl S S e Gl S 1 e e sl S e
O | |HA| A A A A A A A A A A A A
Mllllllllllllllll
M1111112222222222
Y == |=l|eo| << |e]o|~]|o ]S 222
H ¢ 1 kel kel B
—
_L\.ullllllllllllllll
Dl B K1 1 Kl B K1 G Kl S Kl el e Kl e e
milojn
SO lniwjoo oo o
D N R S B T T s S < S S
il oo N o g I B Bd B b= B8 B ) 5 ol )
° B M i B Bl el G el 2 s e e Rl e e
1< ololololololelolololelelololo]e
> NN NN N N oo o el oy
- [OF O] KO KO} (O [O] (O] (O] (O] [O] (O] [O) [O] (O] (O] (O]
[N [S20 N720 K20 K20 NCoN 2K 2N %Y NCoN N'20 K2R ool N%2) K2R %2k 1%
£ Z1Z1Z1Z1Z1Z1=Z121=Z1Z212 121212122
S B B B P B B B P B P B B P Y e
o JAR N RN Y R U] AR [UNQ ENQ UNY JENQ QUNY QUNY QUNY ENR AN

N°
120-13| 128-1| 128-3 | 128-6| 130-1| 130-2| 131-1| 135-1| 135-6 | 137-1| 140| 162| 212| 212-1| 212-2| 219*

245| 273-1

™

™

120-1| 120-3 | 120-6 | 120-11*

117*

Pump Type

EVMSG20 1/1.5

EVMSG20 2/3.0

EVMSG20 3/4.0

EVMSG20 4/5.5

EVMSG20 5/7.5

EVMSG20 6/7.5

EVMSG20 7/11

EVMSG20 8/11

EVMSG20 9/11

EVMSG20 10/11

EVMSG20 11/15

EVMSG20 12/15

EVMSG20 13/15

EVMSG20 14/18.5

EVMSG20 15/18.5

EVMSG20 16/18.5

shaft in EN 1.4462 (AIS| 329A)

or Oval flange (N)

ﬁ

*on
*kk

229

EPA



VERTICAL PUMPS EVM SG

PACKING DRAWING 50 Hz
EVMSG1-3-5-10-15-20

é TYPE 1

|
-

f TYPE 2

TYPE 3

300

EPA



VERTICAL PUMPS

EVMSG

PACKING DATA

50

Hz

EVMSG1-3-5

Note: Pumps with motor dimensions refer to Ebara Factory motors (European). Not generally fitted in Australia. Example purpose only.

Pumps Pumps with motor ~1 Pumps with motor ~3
. Weight + . Weight + . Weight +

Pump type Packing [mm] Packing [kg] | Pack Packing [mm] Packing [kg] | Pack Packing [mm] Packing [kg] | Pack

X Y z evmse | P8 x Y z |evmsw| evmsa | PP x Y z |evmsu| evmsa | VP8
EVMSG1 2/0.37 385 400 385 19.3 1 385 400 585 20.2 27.2 1 385 400 585 18.9 25.9 1
EVMSGL13/0.37 | 385 | 400 | 385 198 | 1 | 385 | 400 | 585 | 207 | 277 | 1 | 385 | 400 | 585 | 104 | 264 | 1
EVMSG1 4/0.37 385 400 385 20.2 1 385 400 770 21.5 28.4 1 385 400 770 20.2 27.1 1
EVMSGL5/0.37 | 385 | 400 | 585 212 | 1 | 385 | 400 | 770 | 220 | 289 | 1 | 385 | 400 | 770 | 207 | 276 | 1
EVMSG1 6/0.37 385 400 585 21.6 1 385 400 770 22.4 29.3 1 385 400 770 21.1 28.0 1
EVMSG1 7/0.37 385 400 585 22.0 1 385 400 770 22.8 29.7 1 385 400 770 21.5 28.4 1
EVMSG18/0.37 | 385 | 400 | 585 2205 | 1 | 385 | 400 | 770 | 233 | 302 | 1 | 385 | 400 | 770 | 220 | 289 | 1
EVMSG1 9/0.55 385 400 585 229 1 385 400 770 25.1 32.0 1 385 400 770 22.8 29.7 1
EVMSGL 10/0.55 | 385 | 400 | 585 233 | 1 | 385 | 400 | 770 | 255 | 324 | 1 | 385 | 400 | 770 | 232 | 30. | 1
EVMSG1 11/0.55 385 400 585 23.8 1 385 400 770 26.0 32.9 1 385 400 770 23.7 30.6 1
EVMSGL 12/0.55 | 385 | 400 | 585 245 | 1 | 385 | 400 | 770 | 267 | 336 | 1 | 385 | 400 | 970 | 244 | 313 | 1
EVMSGL 13/0.55 | 385 | 400 | 585 251 | 1 | 385 | 400 | 970 | 279 | 349 | 1 | 385 | 400 | 970 | 256 | 326 | 1
1 EVMSG1 14/0.75 385 400 770 26.3 1 385 400 970 315 385 1 385 400 970 29.6 36.6 1
EVMSGL 16/0.75 | 385 | 400 | 770 273 | 1 | 385 | 400 | 970 | 325 | 305 | 1 | 385 | 400 | 970 | 306 | 37.6 | 1
EVMSG1 18/1.1 385 400 770 28.4 1 385 400 970 34.0 41.0 1 385 400 970 33.3 40.3 1
EVMSGL20/L.1 | 385 | 400 | 770 204 | 1 | 385 | 400 | 970 | 350 | 420 | 1 | 385 | 400 | 970 | 343 | 413 | 1
EVMSGL22/L.1 | 385 | 400 | 770 306 | 1 | 385 | 400 | 1170 | 3658 | 437 | 1 | 385 | 400 | 1170 | 36.1 | 430 | 1
EVMSG1 24/1.1 385 400 970 32.0 1 385 400 1170 37.8 44.7 1 385 400 1170 37.1 44.0 1
EVMSGL26/L.1 | 385 | 400 | 970 330 | 1 | 385 | 400 | 1170 | 388 | 457 | 1 | 385 | 400 | 1170 | 381 | 450 | 1
EVMSG1 27/1.5 385 400 970 334 1 400 510 1200 45.2 61.1 112 385 400 1170 41.4 48.3 1
EVMSGL29/L5 | 385 | 400 | 970 344 | 1 | 500 | 525 | 1350 | e€6.L | 730 | 3 | 500 | 525 | 1350 | 623 | 69.2 | 3
EVMSG1 32/1.5 385 400 1170 36.2 1 500 525 1350 67.4 74.3 3 500 525 1350 63.6 70.5 3
EVMSG1 34/1.5 385 400 1170 37.1 1 500 525 1350 68.3 75.2 3 500 525 1350 64.5 71.4 3
EVMSGL137/2.2 | 385 | 400 | 1170 385 | 1 | 500 | 525 | 1540 | 741 | 819 | 3 | 500 | 525 | 1540 | 695 | 772 | 3
EVMSG1 39/2.2 385 400 1170 39.5 1 500 525 1540 75.1 82.1 3 500 525 1540 68.9 75.8 3
EVMSG3 2/0.37 | 385 | 400 | 385 176 | L | 385 | 400 | 600 | 203 | 255 | 1 | 385 | 400 | 585 | 100 | 242 | 1
EVMSG3 3/0.37 385 400 385 18.0 1 385 400 600 20.7 25.9 1 385 400 585 19.4 24.6 1
EVMSG34/0.37 | 385 | 400 | 385 185 | 1 | 385 | 400 | 770 | 215 | 268 | 1 | 385 | 400 | 770 | 202 | 255 | 1
EVMSG35/0.55 | 385 | 400 | 585 194 | 1 | 385 | 400 | 770 | 234 | 286 | 1 | 385 | 400 | 770 | 211 | 263 | 1
EVMSG36/0.55 | 385 | 400 | 585 198 | 1 | 385 | 400 | 770 | 238 | 200 | 1 | 385 | 400 | 770 | 215 | 267 | 1
EVMSG37/0.75 | 385 | 400 | 585 207 | 1 | 385 | 400 | 770 | 276 | 328 | 1 | 385 | 400 | 770 | 257 | 309 | 1
EVMSG38/0.75 | 385 | 400 | 585 212 | 1 | 385 | 400 | 770 | 281 | 333 | 1 | 385 | 400 | 770 | 262 | 314 | 1
EVMSG3 9/L.1 385 | 400 | 585 216 | 1 | 385 | 400 | 770 | 289 | 341 | 1 | 385 | 400 | 770 | 282 | 334 | 1
EVMSG310/L.1 | 385 | 400 | 585 221 | 1 | 385 | 400 | 770 | 294 | 346 | 1 | 385 | 400 | 770 | 287 | 339 | 1
EVMSG3 11/1.1 385 400 585 225 1 385 400 970 30.4 35.6 1 385 400 970 29.8 34.9 1
EVMSG312/1.1 | 385 | 400 | 585 232 | 1 | 385 | 400 | 970 | 311 | 363 | 1 | 385 | 400 | 970 | 30.4 | 356 | 1
EVMSG3 13/1.5 385 400 770 24.2 1 385 400 970 37.6 42.8 1 385 400 970 33.8 38.7 1
3 | EVMSG314/15 | 385 | 400 | 770 246 | 1 | 385 | 400 | 970 | 380 | 432 | 1 | 385 | 400 | 970 | 342 | 394 | 1
EVMSG3 15/L.5 | 385 | 400 | 770 251 | 1 | 385 | 400 | 970 | 385 | 437 | 1 | 385 | 400 | 970 | 347 | 399 | 1
EVMSG3 16/1.5 | 385 | 400 | 770 261 | 1 | 385 | 400 | 970 | 39.6 | 447 | 1 | 385 | 400 | 970 | 357 | 407 | 1
EVMSG317/2.2 | 385 | 400 | 770 266 | 1 | 385 | 400 | 970 | 417 | 469 | 1 | 385 | 400 | 970 | 382 | 434 | 1
EVMSG3 19/2.2 385 400 770 27.6 1 385 400 1170 43.3 48.5 1 385 400 1170 39.8 45.0 1
EVMSG321/2.2 | 385 | 400 | 770 285 | 1 | 385 | 400 | 1170 | 442 | 49.0 | 1 | 385 | 400 | 1170 | 407 | 459 | 1
EVMSG3 23/2.2 385 400 970 29.9 1 385 400 1170 45.2 49.4 1 385 400 1170 41.7 46.9 1
EVMSG324/2.2 | 385 | 400 | 970 304 | 1 | 385 | 400 | 1170 | 456 | 498 | 1 | 385 | 400 | 1170 | 421 | 473 | 1

EVMSG3253.0 | 385 | 400 | 970 300 | 1 - - - - 400 | 510 | 1200 | 49.5 | 637 |1]2
EVMSG3 27/3.0 385 400 970 31.9 1 - - - - 500 525 1350 70.4 75.6 3
EVMSG329/3.0 | 385 | 400 | 970 29 | 1 - - - - 500 | 525 | 1350 | 713 | 766 | 3
EVMSG3 31/3.0 385 400 1170 34.4 1 - - - - 500 525 1350 723 775 3
EVMSG3 33/3.0 385 400 1170 35.2 1 - - - - - - 500 525 1350 73.1 78.3 3
EVMSG5 2/0.37_| 385 | 400 | 385 194 | 1 | 385 | 400 | 600 | 208 | 273 | 1 | 385 | 400 | 585 | 195 | 260 | 1
EVMSG53/0.55 | 385 | 400 | 385 199 | 1 | 385 | 400 | 770 | 231 | 295 | 1 | 385 | 400 | 770 | 208 | 273 | 1
EVMSG54/0.75 | 385 | 400 | 585 214 | 1 | 385 | 400 | 770 | 27.0 | 334 | 1 | 385 | 400 | 770 | 251 | 316 | 1
EVMSGS5 5/1.1 385 | 400 | 585 219 | 1 | 385 | 400 | 770 | 27.9 | 344 | 1 | 385 | 400 | 770 | 27.2 | 337 | 1
EVMSGS5 6/1.5 385 | 400 | 585 225 | 1 | 385 | 400 | 770 | 346 | 410 | 1 | 385 | 400 | 770 | 308 | 343 | 1
EVMSGS5 7/L.5 385 | 400 | 585 229 | 1 | 385 | 400 | 970 | 35.6 | 42.0 | 1 | 385 | 400 | 970 | 318 | 382 | 1
EVMSGS5 8/2.2 385 400 585 23.5 1 385 400 970 37.8 44.3 1 385 400 970 34.3 40.8 1
EVMSGS5 9/2.2 385 | 400 | 585 240 | 1 | 385 | 400 | 970 | 384 | 448 | 1 | 385 | 400 | 970 | 349 | 413 | 1
EVMSGS5 10/2.2 385 400 770 25.0 1 385 400 970 38.8 45.3 1 385 400 970 35.3 41.8 1
5 | EVMSG511/22 | 385 | 400 | 770 258 | 1 | 385 | 400 | 970 | 39.7 | 461 | 1 | 385 | 400 | 970 | 362 | 426 | 1
EVMSG5 12/3.0 | 385 | 400 | 770 270 | 1 - - - - 385 | 400 | 970 | 445 | 49.9 | 1

EVMSG5 13/3.0 | 385 | 400 | 770 276 | 1 - - - - - - | 400 | 510 | 1200 | 454 | 608 |1]2

EVMSGS5 14/3.0 385 400 770 28.2 1 - - - - 400 510 1200 45.9 61.4 112

EVMSG5 15/3.0 | 385 | 400 | 770 292 | 1 - - - - - - | 400 | 510 | 1200 | 470 | 624 |1]2
EVMSG5 17/4.0 | 385 | 400 | 970 303 | 1 - - - - 400 | 510 | 1200 | 60.4 | 668 | 2
EVMSG5 19/4.0 | 385 | 400 | 970 314 | 1 - - - - 400 | 510 | 1200 | 615 | 679 | 2
EVMSG520/4.0 | 385 | 400 | 970 337 | 1 - - - - - - | 500 | 525 | 1350 | 746 | 810 | 3
EVMSGS5 23/5.5 385 400 1170 40.9 1 - - - - 500 525 1540 96.1 102.5 3
EVMSG5 25/5.5 385 400 1170 41.9 1 - - - - 500 525 1540 97.1 103.5 3
EVMSG5 27/55__|_500 | 525 | 1350 638 | 3 - - - - 500 | 525 | 1540 | 98.6 | 1051 | 3

301

EPA



VERTICAL PUMPS

EVMSG

PACKING DATA

50

Hz

EVMSG10-15-20

Note: Pumps with motor dimensions refer to Ebara Factory motors (European). Not generally fitted in Australia. Example purpose only.

Pumps Pumps with motor ~1 Pumps with motor ~3
. Weight + . Weight + . Weight +

Pump type Packing [mm] Packing [kg] | Pack Packing [mm] Packing [kg] | Pack Packing [mm] Packing [kg] | Pack

X Y z |evmsw)| evmsc | PP x Y z |ewmsw| evmse | P x Y z |ewmsu)| evmse | Pe
EVMSG10 2/0.75 385 | 400 | 585 | 199 | 267 | 1 | 385 | 400 | 770 | 320 | 388 | 1 | 385 | 400 | 770 | 301 | 369 | 1
EVMSG10 3/L.5 385 | 400 | 585 | 209 | 277 | 1 | 385 | 400 | 770 | 394 | 462 | 1 | 385 | 400 | 770 | 356 | 424 | 1
EVMSG10 4/2.2 385 | 400 | 585 | 217 | 284 [ 1 | 385 | 400 | 770 | 419 | 486 | 1 | 385 | 400 | 770 | 384 | 451 | 1
EVMSG10 5/2.2 385 | 400 | 585 | 225 | 203 | 1 | 385 | 400 | 970 | 433 | 494 | 1 | 385 | 400 | 970 | 398 | 466 | 1
EVMSGL10 6/2.2 385 | 400 | 585 | 234 | 301 | 1 | 385 | 400 | 970 | 442 | 500 | 1 | 385 | 400 | 970 | 407 | 47.4 | 1

EVMSG10 7/3.0 385 | 400 | 585 | 243 | 311 | 1 - - - - - ~ | 400 | 510 | 1200 | 484 | 648 |1]2

EVMSG10 8/3.0 385 | 400 | 770 | 257 | 324 | 1 - - - - - - | 400 | 510 | 1200 | 493 | 656 |1]2
EVMSG10 9/4.0 385 | 400 | 770 | 265 | 33. 1 - - - - 400 | 510 | 1200 | 634 | 702 | 2
EVMSG10 10/4.0 385 | 400 | 770 | 274 | 341 | 1 - - - - — | 200 | 510 | 1200 | 642 | 710 | 2
10 | EVMSG10 11/4.0 385 | 400 | 770 | 290 | 358 | 1 - - - - - - | 400 | 510 | 1200 | 659 | 727 | 2
EVMSG10 12/5.5 385 | 400 | 970 | 392 | 460 | 1 - - - - ~ | 200 | 510 | 1200 | 878 | o946 | 2
EVMSG1014/55 | 385 | 400 | 970 | 410 | 478 | 1 - - - - ~ | 500 | 525 | 1350 | 1005 | 107.3 | 3
EVMSG10 15/5.5 385 | 400 | 970 | 419 | 487 | 1 - - - - - - | 500 | 525 | 1350 | 1014 | 1082 | 3
EVMSG10 16/7.5 385 | 400 | 970 | 429 | 496 | 1 - - - - ~ | 500 | 525 | 1350 | 1042 | 1109 | 3
EVMSG10 18/7.5 400 | 510 | 1200 | 453 | 606 |1]2| - - g - - - | 500 | 525 | 1540 | 1085 | 1148 | 3
EVMSG10 19/7.5 200 | 510 | 1200 | 462 | 620 [1]2| - - - - - ~ | 500 | 525 | 1540 | 1099 | 1167 | 3
EVMSG10 21/7.5 200 | 510 | 1200 | 480 | 638 |1]2] - - - - - — | s00 | 525 | 1540 | 1114 | 1182 | 3
EVMSG10 22/11 400 | 510 | 1200 | 593 | 661 | 2 - - - - — | 610 | 525 | 1750 | 1361 | 1429 | 3
EVMSG10 23/11 500 | 525 | 1350 | 768 | 836 | 3 - - - - - - | 610 | 525 | 1750 | 1420 | 1488 | 3
EVMSGI5 L1 385 | 400 | 585 | 2L2 | 293 | 1 | 385 | 400 | 770 | 337 | 418 | 1 | 385 | 400 | 770 | 330 | 411 | 1
EVMSG15 2/2.2 385 | 400 | 585 | 215 | 296 | 1 | 385 | 400 | 770 | 417 | 498 | 1 | 385 | 400 | 770 | 382 | 463 | 1

EVMSG15 3/3.0 385 | 400 | 585 | 228 | 309 | 1 - - - - - - | 400 | 510 | 1200 | 469 | 646 [1]2
EVMSG15 4/4.0 385 | 400 | 585 | 240 | 321 | 1 - - - - - - | 400 | 510 | 1200 [ 602 | 695 | 2
EVMSG15 5/5.5 385 | 400 | 770 | 342 | 424 | 1 - - - - — | 400 | 510 | 1200 | 832 | o914 | 2
EVMSG15 6/5.5 385 | 400 | 770 | 354 | 436 | 1 : - - - - — | 400 | 510 | 1200 | 844 | 926 | 2
EVMSG15 7/7.5 385 | 400 | 770 | 376 | 458 | 1 - - - - ~ | 200 | 510 | 1200 | 884 | 966 | 2
15 | EVMSGI58/7.5 385 | 400 | 970 | 394 | 475 | 1 - - - - - - | 400 | 510 | 1200 | 897 | 979 | 2
EVMSG15 9/11 200 | 510 | 1200 | 454 | 630 |1]2| - - - - - ~ | 500 | 525 | 1350 | 1252 | 1332 | 3
EVMSG15 10/11 200 | 510 | 1200 | 477 | €53 |1|2| - - - - - — | 500 | 525 | 1540 | 127.8 | 1360 | 3
EVMSG15 11/11 200 | 510 | 1200 | 499 | 676 |1]2| - - g - - - | 500 | 525 | 1540 | 1353 | 1444 | 3
EVMSGI5 12/11 200 | 510 | 1200 | 60.8 | 68.9 | 2 - - - - ~ | 500 | 525 | 1540 | 137.3 | 1454 | 3
EVMSG15 13/11 200 | 510 | 1200 | 621 | 702 | 2 - - - - - — | 500 | 525 | 1540 | 1386 | 1467 | 3
EVMSG15 15/15 200 | 510 | 1200 | 647 | 728 | 2 - - - - - | 610 | 525 | 1750 | 167.6 | 175.7 | 3
EVMSG15 17/15 500 | 525 | 1350 | 78.9 | 870 | 3 - - - - - - | 610 | 525 | 1750 | 1705 | 1786 | 3
EVMSG20 1/1.5 385 | 400 | 585 | 214 | 296 | L | 385 | 400 | 770 | 397 | 449 | T | 385 | 400 | 770 | 390 | 442 | 1
EVMSG20 2/3.0 385 | 400 | 585 | 220 | 302 | 1 - - - - - - | 385 | 400 | 770 [ 450 | 495 | 1

EVMSG20 3/4.0 385 | 400 | 585 | 229 | 3811 | 1 - - - - - - | 400 | 510 | 1200 | 500 | 685 |1]2
EVMSG20 4/5.5 385 | 400 | 770 | 293 | 375 | 1 - - - - - - | 400 | 510 | 1200 [ 783 | 865 | 2
EVMSG20 5/7.5 385 | 400 | 770 | 306 | 388 | 1 - - - - ~ | 400 | 510 | 1200 | 814 | 896 | 2
EVMSG20 6/7.5 385 | 400 | 770 | 318 | 400 | 1 - - - - - - | 400 | 510 | 1200 [ 826 | 908 | 2
EVMSG20 7/11 385 | 400 | 970 | 400 | 482 | 1 - - - - ~ | 500 | 525 | 1350 | 1193 | 1275 | 3
20 | EVMSG20 8/11 400 | 510 | 1200 | 463 | 641 |1]2| - - - - - - | s00 | 525 | 1350 | 129.7 | 1379 | 3
EVMSG20 9/11 200 | 510 | 1200 | 476 | 654 |1]2| - - - - - ~ | 500 | 525 | 1350 | 1310 | 1392 | 3
EVMSG20 10/11 200 | 510 | 1200 | 490 | 668 |1]2| - - - - - - | 500 | 525 | 1540 | 1349 | 1431 | 3
EVMSG20 11/15 200 | 510 | 1200 | 500 | 681 |1|2| - - - - - — | 500 | 525 | 1540 | 162.8 | 1710 | 3
EVMSG20 12/15 200 | 510 | 1200 | 612 | 694 | 2 - - - - — | 500 | 525 | 1540 | 164.1 | 1723 | 3
EVMSG20 13/15 200 | 510 | 1200 | 625 | 708 | 2 - - - - - - | 500 | 525 | 1540 | 1654 | 1737 | 3
EVMSG20 14/185 | 400 | 510 | 1200 | 639 | 721 | 2 - - - - — | 610 | 525 | 1750 | 1819 | 190.0 | 3
EVMSG20 15185 | 400 | 510 | 1200 | 652 | 734 | 2 - - - - — | 610 | 525 | 1750 | 183.2 | 191.4 | 3
EVMSG20 16/18.5 | 400 | 510 | 1200 | 665 | 747 | 2 - - - - — | 610 | 525 | 1750 | 1845 | 1927 | 3

302

EPA



VERTICAL PUMPS

EVMSG

TECHNICAL MOTOR DATA

50 Hz

Standard motors fitted are 3 Phase
WEG W21 motors, E2, IP55, Class F :-
- Aluminium motors 0.37 to 7.5 kW

- Cast Iron motors 11 & 15 kW

Motor kW 0371055075 11| 15| 22| 30| 40| 55| 75| 11.0| 15.0|/18.5
Frame Size | 71 71 80 80 | 90S | 90L |100L|{112M|132S|132S|160M|160M| 160L
FLC # 0.875 1.22|1.58| 2.40| 3.01|4.39|5.77|7.45|10.2|13.9| 20.2 | 27.1| 33.7
Mount Face Maunt - B14A (V18) Flange Mount - B5 (V1)

* FLC = Motor full load current (A) @ 400 V (W21 motors)

TYPICAL NOISE DATA

Coupling Flange Size Power Noise
(MEC) [kw] [HP] LpA - dB(A) *
0.37 0.5
71 <70
0.55 0.75
0.75 1
80 <70
1.1 1.5
90 S 1.5 2
<70
9L 2.2 3
100 L 3.0 4 <70
112 M 4.0 55 <70
55 75
132 S 72
75 10
11 15
160 M
15 20 74
160 L 18.5 25

400

EPA



	performance evmsg 1
	performance evmsg 3
	performance evmsg 5
	performance evmsg 10
	performance evmsg 15
	performance evmsg 20
	selection chart 1 3 5
	selection chart 10 15 20
	tomb evmsg
	~$~$EVMS Techdata March 2016 for review and edit 030516
	1. SPECIFICATIONS 
	2. EVMS 1-3-5-10-15-20 
	2.1 PRODUCT FEATURES 
	2.2 PRODUCT SPECIFICATIONS 
	2.3 SHAFT SEAL 
	2.4 TYPE KEY and NAMEPLATE
	2.6 CURVE SPECIFICATIONS 
	2.14 PACKING 

	4. MOTOR DATA 
	4.1 NOISE DATA 





